Supplementary Materials

Section A. Supplementary material of the corpus study

Table S1.1. Models’ comparisons using Likelihood-ratio test (LRT) for the relative

frequency of Que versus El cual in restrictive and non-restrictive RCs. Asterisks in the

last column indicate a p-value below the significance level of 0.001 for *** and below

0.01 for **,

Model's selection

N total obs = 16

Sampling Units )
N Variety = 4
Random LRT Test
Nested Effect Model fit against
Model Model / Fixed Effects ects nested
specification [ name simpler | added Linouisti
Model mgustic) \yjc [BICc  |LL df [ x2
Variety
Null - - intercept |2570.48 12572.03 128324
FEmain —Main ) [RCtype + intercept 20553 |208.62 | -98.77| 2|2368.9%%+
effects effects relativizer
. RC type +
FE two-way | Two-way | Main | G oo intercept [ 199.55 [203.41 | -84.77| 1]7.98%
interactions | interaction | effects ..
RCtype*relativizer




Table S1.2. Results of the linear mixed-effect model for the relative frequency of Que

versus El cual. The top of the table reports estimates/beta values, standard error (SE),

confidence intervals (95% CI), z-values and levels of significance for fixed effects; the

bottom of the table reports variance and standard deviation (S.D.) for the random effect.

Fixed Effects
Est/Beta| SE | 95% CI z p
Intercept 2.11 0.2 ]11.68 2.52]10.3(<.001
RC type 0.32 10.22]-0.11 0.77]1.43] .15
Relativizer 2.67 10.17] 234 3.04]15.1]<.001
RC type*relativizer| 0.66 ]0.23] 0.2 1.11(2.89| <.01
Random Effect

Variance S.D.

Linguistic variety (intercept) 0.05 0.22

Table S2.1. Models’ comparisons using Likelihood-ratio test (LRT) for the relative

frequency of Que versus Quien in restrictive and non-restrictive RCs. Asterisks in the

last column indicate a p-value below the significance level of 0.001 for *** and below

0.01 for **,

Model's selection

N total obs = 16
Sampling Units )
N Variety = 4
LRT Test
Nested / g?flégtosm Model fit against
Model Model  SS7C T | Fixed Effects nested
specification | name simpler added e .
Model ngmstlc AIC BIC LL ar | x2
Variety
RE only Null | - | - | | intercept | 856.15 | 857.69 | -426.07 | |
FE main Main Null RC type + intercept | 154.81 | 157.9 734 2[705.34%%x
effects effects relativizer
. RC type +
FE two-way | Two-way | Main | )i e s Intercept | 149.97 | 153.83 | -69.98 | 1]6.84%*
interactions | interaction | effects .
RCtype*relativizer




Table S2.2. Results of the linear mixed-effect model for the relative frequency of Que

versus Quien. The top of the table reports estimates/beta values, standard error (SE),

confidence intervals (95% CI), z-values and levels of significance for fixed effects; the

bottom of the table reports variance and standard deviation (S.D.) for the random effect.

Fixed Effects
Est/Beta| SE 95% CI z p
Intercept 1.15 10291053 1.7 | 3.93 | <.001
RC type 335 10.28]2.84 3.96|11.92| <.001
Relativizer -0.48 10.44(-1.41 037 | -1.08| .27
RC type*relativizer [ -1.31 |0.46(-2.21 -0.34( -2.79| <.05
Random Effect

Variance S.D.

Linguistic variety (intercept) 0.03 0.19

Table S3.1. Models’ comparisons using Likelihood-ratio test (LRT) for the relative

frequency of Que versus Donde in restrictive and non-restrictive RCs. The asterisk in

the last column represents a p-value below the significance level of 0.001.

Model's selection

) ) N total obs = 16
Sampling Units .
N Variety = 4
Random LRT Test
Nested Effect Model fit against
Model Model / Fixed Effects ects nested
specification | name simpler | added Linguistic
Model 8 AIC |BIC |LL |df [x2
Variety
REonly  [Null |- |- | [intercept |169.98[171.53] -82.99] |
FE main Main RC type + . . s
effects effects Null relativizer intercept [ 158.6 |161.69 753 2]15.37
. RC type +
FE two-way | Two-way | Mamn | o ioier 4 intercept [ 136 [139.87| 63| 1[24.6%**
interactions | interaction | effects " .
RCtype*relativizer




Table S3.2. Results of the linear mixed-effect model for the relative frequency of Que
versus Donde. The top of the table reports estimates/beta values, standard error (SE),
confidence intervals (95% CI), z-values and levels of significance for fixed effects; the

bottom of the table reports variance and standard deviation (S.D.) for the random effect.

Fixed Effects
Est/Beta| SE 95% CI z p
Intercept 337 10.15] 3.01 3.72] 22.2 |<.001
RC type 0.19 10.12]1-0.04 043] 159 | .22
Relativizer 0.1 ]0.12] -0.14 0.35] 0.81 | .41
RC type*relativizer| -0.95 [0.19]-1.34 -0.57 -4.87]<.001
Random Effect

Variance S.D.

Linguistic variety (intercept) 0.05 0.24

Section B. Experimental stimuli

1. Experimental stimuli of the contrast Que versus E! cual

RES-QUE El profesor impartio el curso en el que explicaba los problemas en educacion.
RES-CUAL  El profesor impartio el curso en el cual explicaba los problemas en educacion.
NON-QUE El profesor impartio un curso, en el que explicaba los problemas en educacion.
NON-CUAL  El profesor impartio un curso, en el cual explicaba los problemas en educacion.
RES-QUE Los ministros pactaron la alianza con la que finalizaron la guerra entre sus paises.
RES-CUAL  Los ministros pactaron la alianza con la cual finalizaron la guerra entre sus paises.
NON-QUE Los ministros pactaron su alianza, con la que finalizaron la guerra entre sus paises.
NON-CUAL  Los ministros pactaron su alianza, con la cual finalizaron la guerra entre sus paises.
RES-QUE El abogado redacto el informe en el que demostraba la inocencia del acusado.
RES-CUAL  El abogado redacto el informe en el cual demostraba la inocencia del acusado.
NON-QUE El abogado redacto su informe, en el que demostraba la inocencia del acusado.
NON-CUAL  El abogado redacto su informe, en el cual demostraba la inocencia del acusado.
RES-QUE La revista publico un articulo en el que describia las tendencias en moda.
RES-CUAL  La revista publico un articulo en el cual describia las tendencias en moda.
NON-QUE La revista publico mi articulo, en el que describo las tendencias en moda.
NON-CUAL  La revista publico mi articulo, en el cual describo las tendencias en moda.
RES-QUE La universidad finalizo la reforma para la que contrato una empresa de Alemania.
RES-CUAL  La universidad finalizo la reforma para la cual contratoé una empresa de Alemania.
NON-QUE La universidad finalizo su reforma, para la que contrato una empresa de Alemania.
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La universidad finalizo su reforma, para la cual contrato una empresa de Alemania.
El presidente inauguro el barco en el que realizaria su viaje a México.

El presidente inauguro el barco en el cual realizaria su viaje a México.

El presidente inauguro su barco, en el que realizaria su viaje a México.

El presidente inauguro su barco, en el cual realizaria su viaje a México.

Pedro ha olvidado la contraseria con la que abria su cuenta de correo.

Pedro ha olvidado la contraseria con la cual abria su cuenta de correo.

Pedro ha olvidado su contrasena, con la que abria su cuenta de correo.

Pedro ha olvidado su contraseria, con la cual abria su cuenta de correo.

El congresista hablo en el idioma en el que tiene una mayor competencia.

El congresista hablo en el idioma en el cual tiene una mayor competencia.

El congresista hablo en su idioma, en el que tiene una mayor competencia.

El congresista hablo en su idioma, en el cual tiene una mayor competencia.

Mi amiga recibio el premio con el que realizara sus estudios de doctorado.

Mi amiga recibio el premio con el cual realizara sus estudios de doctorado.
Mi amiga recibio un premio, con el que realizara sus estudios de doctorado.
Mi amiga recibio un premio, con el cual realizard sus estudios de doctorado.
El cantante compuso la cancion con la que abrird el concierto de maniana.

El cantante compuso la cancion con la cual abrira el concierto de marniana.

El cantante compuso una cancion, con la que abrird el concierto de mariana.
El cantante compuso una cancion, con la cual abrira el concierto de maniana.
El guerrero guardo la espada con la que vencio a sus enemigos en la batalla.
El guerrero guardo la espada con la cual vencio a sus enemigos en la batalla.
El guerrero guardo su espada, con la que vencio a sus enemigos en la batalla.
El guerrero guardo su espada, con la cual vencio a sus enemigos en la batalla.
Mi madre perdio el bolso en el que guardaba las llaves del coche.

Mi madre perdio el bolso en el cual guardaba las llaves del coche.

Mi madre perdio su bolso, en el que guardaba las llaves del coche.

Mi madre perdio su bolso, en el cual guardaba las llaves del coche.

El director envio el comunicado en el que dimitia de su puesto en la empresa.
El director envio el comunicado en el cual dimitia de su puesto en la empresa.
El director envio un comunicado, en el que dimitia de su puesto en la empresa.
El director envio un comunicado, en el cual dimitia de su puesto en la empresa.
El profesor inauguro la charla en la que presento su teoria sobre la gravedad.
El profesor inauguro la charla en la cual presento su teoria sobre la gravedad.
El profesor inauguro su charla, en la que presento su teoria sobre la gravedad.
El profesor inauguro su charla, en la cual presento su teoria sobre la gravedad.
La banda premio al cantante con el que realizo la gira por Espania.

La banda premio al cantante con el cual realizo la gira por Esparia.

La banda premio a su cantante, con el que realizo la gira por Espana.

La banda premio a su cantante, con el cual realizo la gira por Esparia.

El partido elegira al candidato con el que espera ganar las elecciones.

El partido elegira al candidato con el cual espera ganar las elecciones.

El partido elegira a su candidato, con el que espera ganar las elecciones.

El partido elegira a su candidato, con el cual espera ganar las elecciones.
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Mi hermano se reunio con el amigo con el que compartira el piso este ario.

Mi hermano se reunio con el amigo con el cual compartira el piso este anio.

Mi hermano se reunio con su amigo, con el que compartira el piso este anio.

Mi hermano se reunio con su amigo, con el cual compartira el piso este aro.

Mi amiga no conocia al profesor con el que haria las practicas de la asignatura.
Mi amiga no conocia al profesor con el cual haria las practicas de la asignatura.
Mi amiga no conocia a su profesor, con el que haria las practicas de la asignatura.

Mi amiga no conocia a su profesor, con el cual haria las prdacticas de la asignatura.

El ejército vencio al enemigo contra el que libraron las peores batallas.

El ejército vencio al enemigo contra el cual libraron las peores batallas.

El ejército vencio a su enemigo, contra el que libraron las peores batallas.

El ejército vencio a su enemigo, contra el cual libraron las peores batallas.
Alfonso se cito con el abogado con el que colaboro en el juicio contra su jefe.
Alfonso se cito con el abogado con el cual colaboro en el juicio contra su jefe.
Alfonso se cito con su abogado, con el que colaboro en el juicio contra su jefe.
Alfonso se cito con su abogado, con el cual colaboro en el juicio contra su jefe.
El equipo despidio al entrenador con el que perdieron el campeonato nacional.
El equipo despidio al entrenador con el cual perdieron el campeonato nacional.
El equipo despidio a su entrenador, con el que perdieron el campeonato nacional.
El equipo despidio a su entrenador, con el cual perdieron el campeonato nacional.
El rey recibio al conde con el que estableceria un acuerdo de gobierno.

El rey recibio al conde con el cual estableceria un acuerdo de gobierno.

El rey recibio a un conde, con el que estableceria un acuerdo de gobierno.

El rey recibio a un conde, con el cual estableceria un acuerdo de gobierno.
Manuel no conoce a la hija a la que abandono de nifia en un orfanato.

Manuel no conoce a la hija a la cual abandono de nifia en un orfanato.
Manuel no conoce a su hija, a la que abandono de nifia en un orfanato.
Manuel no conoce a su hija, a la cual abandoné de nifia en un orfanato.

Marta discutio con el vecino con el que compartia el patio de la casa.

Marta discutio con el vecino con el cual compartia el patio de la casa.

Marta discutio con su vecino, con el que compartia el patio de la casa.

Marta discutio con su vecino, con el cual compartia el patio de la casa.

El presidente confiaba en el ministro al que encargo la redaccion de la ley.

El presidente confiaba en el ministro al cual encargo la redaccion de la ley.

El presidente confiaba en su ministro, al que encargo la redaccion de la ley.

El presidente confiaba en su ministro, al cual encargo la redaccion de la ley.
Marisa visito a la amiga a la que ayudo con la mudanza de los muebles.
Marisa visito a la amiga a la cual ayudo con la mudanza de los muebles.
Marisa visito a su amiga, a la que ayudo con la mudanza de los muebles.
Marisa visito a su amiga, a la cual ayudo con la mudanza de los muebles.
Francisco discutio con el hermano con el que trabaja en la oficina de correos.
Francisco discutio con el hermano con el cual trabaja en la oficina de correos.
Francisco discutio con su hermano, con el que trabaja en la oficina de correos.
Francisco discutio con su hermano, con el cual trabaja en la oficina de correos.
El médico visito al paciente al que trataba por sus problemas de insomnio.
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RES-CUAL  El médico visito al paciente al cual trataba por sus problemas de insomnio.
NON-QUE El médico visito a su paciente, al que trataba por sus problemas de insomnio.
NON-CUAL  El médico visito a su paciente, al cual trataba por sus problemas de insomnio.
RES-QUE Fernando perdio al perro al que adopto en una protectora de animales.
RES-CUAL  Fernando perdio al perro al cual adopto en una protectora de animales.
NON-QUE Fernando perdio a su perro, al que adopto en una protectora de animales.
NON-CUAL  Fernando perdio a su perro, al cual adopto en una protectora de animales.
RES-QUE Juan arreglo el coche con el que reparte la comida del restaurante.
RES-CUAL  Juan arreglo el coche con el cual reparte la comida del restaurante.
NON-QUE Juan arreglo su coche, con el que reparte la comida del restaurante.
NON-CUAL  Juan arreglo su coche, con el cual reparte la comida del restaurante.
RES-QUE Miguel perdio el empleo por el que viajaba a menudo al extranjero.
RES-CUAL  Miguel perdio el empleo por el cual viajaba a menudo al extranjero.
NON-QUE Miguel perdio su empleo, por el que viajaba a menudo al extranjero.
NON-CUAL  Miguel perdio su empleo, por el cual viajaba a menudo al extranjero.
RES-QUE El cantante perdio la guitarra con la que toco en el concierto de anoche.
RES-CUAL  El cantante perdio la guitarra con la cual toco en el concierto de anoche.
NON-QUE El cantante perdio su guitarra, con la que toco en el concierto de anoche.
NON-CUAL  El cantante perdio su guitarra, con la cual toco en el concierto de anoche.
RES-QUE Francisco firmo el contrato por el que comenzaria a trabajar en el banco.
RES-CUAL  Francisco firmo el contrato por el cual comenzaria a trabajar en el banco.
NON-QUE Francisco firmo su contrato, por el que comenzaria a trabajar en el banco.
NON-CUAL  Francisco firmo su contrato, por el cual comenzaria a trabajar en el banco.
RES-QUE El rey perdio la corona con la que desfilaria el dia de su coronacion.
RES-CUAL  Elrey perdio la corona con la cual desfilaria el dia de su coronacion.
NON-QUE El rey perdio su corona, con la que desfilo el dia de su coronacion.
NON-CUAL  El rey perdio su corona, con la cual desfilo el dia de su coronacion.
RES-QUE Mi primo rompio la copa con la que brindo en la fiesta de cumplearios.
RES-CUAL  Mi primo rompio la copa con la cual brindo en la fiesta de cumplearios.
NON-QUE Mi primo rompio su copa, con la que brindo en la fiesta de cumplearios.
NON-CUAL  Mi primo rompio su copa, con la cual brindo en la fiesta de cumplearios.
RES-QUE Marta me devolvio el dinero con el que compro la television del salon.
RES-CUAL  Marta me devolvio el dinero con el cual compro la television del salon.
NON-QUE Marta me devolvio mi dinero, con el que compro la television del salon.
NON-CUAL  Marta me devolvio mi dinero, con el cual compro la television del salon.
RES-QUE El profesor me dejo el libro con el que preparaba las clases de fisica.
RES-CUAL  El profesor me dejo el libro con el cual preparaba las clases de fisica.
NON-QUE El profesor me dejo su libro, con el que preparaba las clases de fisica.
NON-CUAL  El profesor me dejo su libro, con el cual preparaba las clases de fisica.
RES-QUE El asesino oculto el arma con la que cometio el crimen en el banco.
RES-CUAL  El asesino oculto el arma con la cual cometio el crimen en el banco.
NON-QUE El asesino oculto su arma, con la que cometio el crimen en el banco.
NON-CUAL  El asesino oculto su arma, con la cual cometio el crimen en el banco.
RES-QUE La universidad firmo el convenio con el que esperaba mejorar su educacion.
RES-CUAL  La universidad firmo el convenio con el cual esperaba mejorar su educacion.
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La universidad firmo un convenio, con el que esperaba mejorar su educacion.

La universidad firmo un convenio, con el cual esperaba mejorar su educacion.

El capitan reparo el barco con el que viajaria alrededor del mundo.

El capitan reparo el barco con el cual viajaria alrededor del mundo.

El capitan reparo su barco, con el que viajaria alrededor del mundo.

El capitan reparo su barco, con el cual viajaria alrededor del mundo.

La enfermera perdio la agenda en la que anotaba las consultas del médico.

La enfermera perdio la agenda en la cual anotaba las consultas del médico.

La enfermera perdio su agenda, en la que anotaba las consultas del médico.

La enfermera perdio su agenda, en la cual anotaba las consultas del médico.

El pintor inauguro la exposicion en la que presento su coleccion de arte.

El pintor inaugurd la exposicion en la cual presento su coleccion de arte.

El pintor inauguro su exposicion, en la que presento su coleccion de arte.

El pintor inauguro su exposicion, en la cual presento su coleccion de arte.

El paciente visito al médico con el que realizaba las pruebas del corazon.

El paciente visito al médico con el cual realizaba las pruebas del corazon.

El paciente visito a su médico, con el que realizaba las pruebas del corazon.

El paciente visito a su médico, con el cual realizaba las pruebas del corazon.

La aficion homenajeo al entrenador con el que gano la liga de futbol.

La aficion homenajeo al entrenador con el cual gano la liga de futbol.

La aficion homenajeo a su entrenador, con el que gano la liga de futbol.

La aficion homenajeo a su entrenador, con el cual gano la liga de futbol.

Elena discutio con la compariera con la que comparte el despacho de la facultad.
Elena discutio con la compariera con la cual comparte el despacho de la facultad.
Elena discutio con su compariera, con la que comparte el despacho de la facultad.
Elena discutio con su compariera, con la cual comparte el despacho de la facultad.
El equipo derroto al rival contra el que jugo el partido de la eliminatoria.

El equipo derroto al rival contra el cual jugo el partido de la eliminatoria.

El equipo derroto a su rival, contra el que jugo el partido de la eliminatoria.

El equipo derroto a su rival, contra el cual jugo el partido de la eliminatoria.

El detective felicito al compariero con el que resolvio el robo de la joyeria.

El detective felicito al compariero con el cual resolvio el robo de la joyeria.

El detective felicito a su compariero, con el que resolvio el robo de la joyeria.

El detective felicito a su compariero, con el cual resolvio el robo de la joyeria.
Pablo visito a la familia a la que conocio en su viaje a Espana.

Pablo visito a la familia a la cual conocio en su viaje a Espana.

Pablo visito a mi familia, a la que conocio en su viaje a Espana.

Pablo visité a mi familia, a la cual conocio en su viaje a Espana.

La orquesta contrato al director con el que trabajaria en la nueva opera.

La orquesta contrato al director con el cual trabajaria en la nueva opera.

La orquesta contrato a un director, con el que trabajaria en la nueva opera.

La orquesta contrato a un director, con el cual trabajaria en la nueva opera.
Maria me presento a la hermana con la que compartia su habitacion de pequenia.
Maria me presento a la hermana con la cual compartia su habitacion de pequeria.
Maria me presento a su hermana, con la que compartia su habitacion de pequena.
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Maria me presento a su hermana, con la cual compartia su habitacion de pequeria.
Patricia perdio al hijo con el que salio de excursion al campo.

Patricia perdio al hijo con el cual salio de excursion al campo.

Patricia perdio a su hijo, con el que salio de excursion al campo.

Patricia perdio a su hijo, con el cual salio de excursion al campo.

El disefiador viajo con la modelo a la que contrato para el desfile de moda.

El diseriador viajo con la modelo a la cual contrato para el desfile de moda.

El disefiador viajo con su modelo, a la que contrato para el desfile de moda.

El diseriador viajo con su modelo, a la cual contrato para el desfile de moda.

El ladron se disculpo con la victima a la que robo el colgante de su abuela.

El ladron se disculpo con la victima a la cual robo el colgante de su abuela.

El ladron se disculpo con su victima, a la que robo el colgante de su abuela.

El ladron se disculpo con su victima, a la cual robo el colgante de su abuela.

El cantante visito al compositor con el que compone muchas de sus canciones.
El cantante visito al compositor con el cual compone muchas de sus canciones.
El cantante visito a su compositor, con el que compone muchas de sus canciones.
El cantante visito a su compositor, con el cual compone muchas de sus canciones.
El actor recordo al maestro con el que realizo sus primeras interpretaciones.

El actor recordo al maestro con el cual realizo sus primeras interpretaciones.

El actor recordo a su maestro, con el que realizo sus primeras interpretaciones.
El actor recordo a su maestro, con el cual realizo sus primeras interpretaciones.
El presidente destituyo al ministro con el que discutio en la rueda de prensa.

El presidente destituyo al ministro con el cual discutio en la rueda de prensa.

El presidente destituyo a su ministro, con el que discutio en la rueda de prensa.
El presidente destituyo a su ministro, con el cual discutio en la rueda de prensa.

2. Experimental stimuli of the contrast Que vs Quien

RES-QUE
RES-QUIEN
NON-QUE
NON-QUIEN
RES-QUE
RES-QUIEN
NON-QUE
NON-QUIEN
RES-QUE
RES-QUIEN
NON-QUE
NON-QUIEN
RES-QUE
RES-QUIEN
NON-QUE
NON-QUIEN
RES-QUE

La actriz se reconcilio con el novio al que abandono tras el rodaje de la pelicula.
La actriz se reconcilio con el novio a quien abandono tras el rodaje de la pelicula.
La actriz se reconcilio con su novio, al que abandondé tras el rodaje de la pelicula.
La actriz se reconcilio con su novio, a quien abandono tras el rodaje de la pelicula.
El gobierno destituyo al diputado al que acusaron de aliarse con la oposicion.

El gobierno destituyo al diputado a quien acusaron de aliarse con la oposicion.
El gobierno destituyo a su diputado, al que acusaron de aliarse con la oposicion.
El gobierno destituyo a su diputado, a quien acusaron de aliarse con la oposicion.
El teatro presento al artista al que contrato para el nuevo espectdculo.

El teatro presento al artista a quien contrato para el nuevo espectdculo.

El teatro presento a su artista, al que contrato para el nuevo espectdaculo.

El teatro presento a su artista, a quien contrato para el nuevo espectdaculo.

El sindicato presentara al presidente al que eligieron en la votacion de ayer.

El sindicato presentara al presidente a quien eligieron en la votacion de ayer.

El sindicato presentara a su presidente, al que eligieron en la votacion de ayer.
El sindicato presentara a su presidente, a quien eligieron en la votacion de ayer.
Miguel me presento al jefe al que acompaiio en un viaje de negocios.
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Miguel me presento al jefe a quien acompario en un viaje de negocios.

Miguel me presento a su jefe, al que acompario en un viaje de negocios.

Miguel me presento a su jefe, a quien acompario en un viaje de negocios.

El director felicito al trabajador al que concedieron un premio por su trabajo.

El director felicito al trabajador a quien concedieron un premio por su trabajo.
El director felicito a su trabajador, al que concedieron un premio por su trabajo.
El director felicito a su trabajador, a quien concedieron un premio por su trabajo.
Mi amiga vive con el hermano al que acompaniaba al colegio de pequena.

Mi amiga vive con el hermano a quien acompariaba al colegio de pequernia.

Mi amiga vive con su hermano, al que acompariaba al colegio de pequeria.

Mi amiga vive con su hermano, a quien acomparniaba al colegio de pequeria.

El granjero llamo al veterinario del que dependia el cuidado de los animales.

El granjero llamo al veterinario de quien dependia el cuidado de los animales.

El granjero llamo a su veterinario, del que dependia el cuidado de los animales.
El granjero llamo a su veterinario, de quien dependia el cuidado de los animales.
El entrenador se enfado con el jugador al que ficho al final de la temporada.

El entrenador se enfado con el jugador a quien ficho al final de la temporada.

El entrenador se enfado con su jugador, al que ficho al final de la temporada.

El entrenador se enfado con su jugador, a quien ficho al final de la temporada.

El taxista no encontraba al pasajero al que esperaba en el arcén de la carretera.
El taxista no encontraba al pasajero a quien esperaba en el arcén de la carretera.
El taxista no encontraba a su pasajero, al que esperaba en el arcén de la carretera.
El taxista no encontraba a su pasajero, a quien esperaba en el arcén de la carretera.
Los ciudadanos criticaron al alcalde al que votaron en las ultimas elecciones.
Los ciudadanos criticaron al alcalde a quien votaron en las ultimas elecciones.
Los ciudadanos criticaron a su alcalde, al que votaron en las ultimas elecciones.
Los ciudadanos criticaron a su alcalde, a quien votaron en las ultimas elecciones.
Mi amiga se enamoro del médico al que conocio en mi fiesta de navidad.

Mi amiga se enamoro del médico a quien conocio en mi fiesta de navidad.

Mi amiga se enamord de mi médico, al que conocio en mi fiesta de navidad.

Mi amiga se enamoro de mi médico, a quien conocio en mi fiesta de navidad.

La revista despidio al periodista al que descubrieron mintiendo en sus articulos.
La revista despidio al periodista a quien descubrieron mintiendo en sus articulos.
La revista despidio a un periodista, al que descubrieron mintiendo en sus articulos.
La revista despidio a un periodista, a quien descubrieron mintiendo en sus articulos.
Clara visito al amigo al que conocio de joven en Londres.

Clara visito al amigo a quien conocio de joven en Londres.

Clara visito a su amigo, al que conocio de joven en Londres.

Clara visito a su amigo, a quien conocio de joven en Londres.

El actor trabajara con el director al que admira desde hace varios arios.

El actor trabajara con el director a quien admira desde hace varios anos.

El actor trabajara con su director, al que admira desde hace varios arios.

El actor trabajara con su director, a quien admira desde hace varios arios.

La modelo discutio con el asesor al que contrato para la campania publicitaria.
La modelo discutio con el asesor a quien contrato para la camparia publicitaria.
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La modelo discutio con su asesor, al que contrato para la campaiia publicitaria.
La modelo discutio con su asesor, a quien contrato para la campana publicitaria.
El presentador critico al rey al que entrevisto para el reportaje de este mes.

El presentador critico al rey a quien entrevisto para el reportaje de este mes.

El presentador critico al rey, al que entrevisto para el reportaje de este mes.

El presentador critico al rey, a quien entrevisto para el reportaje de este mes.

El banco contacto con el cliente al que ayudaba a gestionar su patrimonio.

El banco contacto con el cliente a quien ayudaba a gestionar su patrimonio.

El banco contacto con su cliente, al que ayudaba a gestionar su patrimonio.

El banco contacto con su cliente, a quien ayudaba a gestionar su patrimonio.

Mi primo me presento al amigo al que ayuda a estudiar para los examenes.

Mi primo me presento al amigo a quien ayuda a estudiar para los examenes.

Mi primo me presento a su amigo, al que ayuda a estudiar para los examenes.
Mi primo me presento a su amigo, a quien ayuda a estudiar para los examenes.
El profesor se reunio con el estudiante al que aconsejaria en su trabajo final.

El profesor se reunio con el estudiante a quien aconsejaria en su trabajo final.
El profesor se reunio con un estudiante, al que aconsejaria en su trabajo final.
El profesor se reunio con un estudiante, a quien aconsejaria en su trabajo final.
El museo despidio al pintor al que encargaba la reparacion de los cuadros.

El museo despidio al pintor a quien encargaba la reparacion de los cuadros.

El museo despidio a un pintor, al que encargaba la reparacion de los cuadros.
El museo despidio a un pintor, a quien encargaba la reparacion de los cuadros.
El decano despidio al secretario del que dependia la organizacion de las clases.
El decano despidio al secretario de quien dependia la organizacion de las clases.
El decano despidio a su secretario, del que dependia la organizacion de las clases.
El decano despidio a su secretario, de quien dependia la organizacion de las clases.
Mi hermana cend con un amigo al que llevaba mucho tiempo sin ver.

Mi hermana ceno con un amigo a quien llevaba mucho tiempo sin ver.

Mi hermana ceno con su amigo, al que llevaba mucho tiempo sin ver.

Mi hermana cend con su amigo, a quien llevaba mucho tiempo sin ver.

Los soldados homenajearon al coronel al que debian el éxito de la batalla.

Los soldados homenajearon al coronel a quien debian el éxito de la batalla.

Los soldados homenajearon a su coronel, al que debian el éxito de la batalla.
Los soldados homenajearon a su coronel, a quien debian el éxito de la batalla.
El cocinero contrato al ayudante al que encargaria preparar los postres.

El cocinero contrato al ayudante a quien encargaria preparar los postres.

El cocinero contrato a su ayudante, al que encargaria preparar los postres.

El cocinero contrato a su ayudante, a quien encargaria preparar los postres.
Los diputados apoyaron al lider al que eligieron para representar al partido.
Los diputados apoyaron al lider a quien eligieron para representar al partido.
Los diputados apoyaron a su lider, al que eligieron para representar al partido.
Los diputados apoyaron a su lider, a quien eligieron para representar al partido.
El senado elegira al portavoz al que encargaran los comunicados de prensa.

El senado elegira al portavoz a quien encargaran los comunicados de prensa.

El senado elegira a su portavoz, al que encargaran los comunicados de prensa.
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El senado elegira a su portavoz, a quien encargaran los comunicados de prensa.
Vicente me presento al camarero al que contrato para el nuevo restaurante.
Vicente me presento al camarero a quien contrato para el nuevo restaurante.
Vicente me presento a su camarero, al que contrato para el nuevo restaurante.
Vicente me presento a su camarero, a quien contrato para el nuevo restaurante.
La policia interrogo al vecino al que encontro en la escena del crimen.

La policia interrogo al vecino a quien encontro en la escena del crimen.

La policia interrogo a mi vecino, al que encontro en la escena del crimen.

La policia interrogo a mi vecino, a quien encontro en la escena del crimen.

El dugue confiaba en el rey al que ayudaba en la administracion del reino.

El duque confiaba en el rey a quien ayudaba en la administracion del reino.

El dugue confiaba en su rey, al que ayudaba en la administracion del reino.

El duque confiaba en su rey, a quien ayudaba en la administracion del reino.
Rebeca aiioraba al amigo al que conocié en su viaje por Africa.

Rebeca aiioraba al amigo a quien conocié en su viaje por Africa.

Rebeca aiioraba a su amigo, al que conocié en su viaje por Africa.

Rebeca afioraba a su amigo, a quien conocio en su viaje por Africa.

El acusado se alio con el abogado al que contrato para defenderlo en el juicio.
El acusado se alio con el abogado a quien contrato para defenderlo en el juicio.
El acusado se alio con su abogado, al que contrato para defenderlo en el juicio.
El acusado se alio con su abogado, a quien contrato para defenderlo en el juicio.
La facultad recibio al decano al que votaron en la reunion del jueves.

La facultad recibio al decano a quien votaron en la reunion del jueves.

La facultad recibio a su decano, al que votaron en la reunion del jueves.

La facultad recibio a su decano, a quien votaron en la reunion del jueves.
Rodrigo llamé al dentista al que acudia desde hacia varios arios.

Rodrigo llamo al dentista a quien acudia desde hacia varios arios.

Rodrigo llamé a su dentista, al que acudia desde hacia varios anos.

Rodrigo llamo a su dentista, a quien acudia desde hacia varios anos.

El pasajero esperaba al taxista al que llamo desde la recepcion del hotel.

El pasajero esperaba al taxista a quien llamo desde la recepcion del hotel.

El pasajero esperaba a su taxista, al que llamo desde la recepcion del hotel.

El pasajero esperaba a su taxista, a quien llamo desde la recepcion del hotel.
Jorge se despidio del amigo al que acompario a la estacion del tren.

Jorge se despidio del amigo a quien acompaiio a la estacion del tren.

Jorge se despidio de su amigo, al que acompario a la estacion del tren.

Jorge se despidio de su amigo, a quien acompaiio a la estacion del tren.

El psicologo visito al paciente al que ayudaba con sus problemas de memoria.
El psicologo visito al paciente a quien ayudaba con sus problemas de memoria.
El psicologo visito a su paciente, al que ayudaba con sus problemas de memoria.
El psicologo visito a su paciente, a quien ayudaba con sus problemas de memoria.
Mi hermana discutio con el maestro al que veia en las clases de matemdticas.
Mi hermana discutio con el maestro a quien veia en las clases de matematicas.
Mi hermana discutio con su maestro, al que veia en las clases de matematicas.
Mi hermana discutio con su maestro, a quien veia en las clases de matematicas.
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Paula se reunio con el asesor al que contrato para administrar su herencia.
Paula se reunio con el asesor a quien contrato para administrar su herencia.
Paula se reunio con su asesor, al que contrato para administrar su herencia.
Paula se reunio con su asesor, a quien contrato para administrar su herencia.
Carmen se mudo con el hijo al que adopto de pequerio en un orfanato.

Carmen se mudo con el hijo a quien adopto de pequeiio en un orfanato.
Carmen se mudo con su hijo, al que adopto de pequerio en un orfanato.
Carmen se mudo con su hijo, a quien adopto de pequerio en un orfanato.

El entrenador premio al atleta al que ayudaba para ganar la competicion.

El entrenador premio al atleta a quien ayudaba para ganar la competicion.

El entrenador premio a su atleta, al que ayudaba para ganar la competicion.
El entrenador premio a su atleta, a quien ayudaba para ganar la competicion.
La cafeteria despidio al camarero al que contrato para la temporada de verano.
La cafeteria despidio al camarero a quien contrato para la temporada de verano.
La cafeteria despidio a su camarero, al que contrato para la temporada de verano.
La cafeteria despidio a su camarero, a quien contrato para la temporada de verano.
La actriz se comprometio con el novio al que conocio en la nueva pelicula.

La actriz se comprometio con el novio a quien conocio en la nueva pelicula.
La actriz se comprometio con su novio, al que conocio en la nueva pelicula.
La actriz se comprometio con su novio, a quien conocio en la nueva pelicula.
El estudiante discutio con el profesor al que critico por poner notas bajas.

El estudiante discutio con el profesor a quien critico por poner notas bajas.

El estudiante discutio con su profesor, al que critico por poner notas bajas.

El estudiante discutio con su profesor, a quien critico por poner notas bajas.
El arbitro discutio con el jugador al que expulso tras meter el gol.

El arbitro discutio con el jugador a quien expulso tras meter el gol.

El arbitro discutio con un jugador, al que expulso tras meter el gol.

El arbitro discutio con un jugador, a quien expulso tras meter el gol.

La editorial presento al escritor al que ayudaron a publicar su novela.

La editorial presento al escritor a quien ayudaron a publicar su novela.

La editorial presento a su escritor, al que ayudaron a publicar su novela.

La editorial presento a su escritor, a quien ayudaron a publicar su novela.
Jesus ceno con el jefe al que contrataron antes de las vacaciones.

Jesus ceno con el jefe a quien contrataron antes de las vacaciones.

Jesus ceno con su jefe, al que contrataron antes de las vacaciones.

Jesus ceno con su jefe, a quien contrataron antes de las vacaciones.

La radio felicito al periodista al que concedieron el premio por su trabajo.

La radio felicité al periodista a quien concedieron el premio por su trabajo.
La radio felicito a su periodista, al que concedieron el premio por su trabajo.
La radio felicito a su periodista, a quien concedieron el premio por su trabajo.
El ejército homenajeo al soldado al que perdieron en la ultima batalla.

El ejército homenajeo al soldado a quien perdieron en la ultima batalla.

El ejército homenajeo a un soldado, al que perdieron en la ultima batalla.

El ejército homenajed a un soldado, a quien perdieron en la ultima batalla.

La empresa despidio al trabajador al que culpaban del robo del dinero.
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La empresa despidio al trabajador a quien culpaban del robo del dinero.

La empresa despidio a su trabajador, al que culpaban del robo del dinero.

La empresa despidio a su trabajador, a quien culpaban del robo del dinero.

La aficion aclamo al jugador al que dedicaron una calle de la ciudad.

La aficion aclamo al jugador a quien dedicaron una calle de la ciudad.

La aficion aclamo a su jugador, al que dedicaron una calle de la ciudad.

La aficion aclamo a su jugador, a quien dedicaron una calle de la ciudad.

El abogado visito al cliente al que defenderd en el juicio de marniana.

El abogado visito al cliente a quien defendera en el juicio de mariana.

El abogado visito a su cliente, al que defendera en el juicio de mariana.

El abogado visito a su cliente, a quien defendera en el juicio de mariana.

Mateo se reunio con el companiero al que ayudaba a estudiar para el examen.
Mateo se reunio con el compariero a quien ayudaba a estudiar para el examen.
Mateo se reunio con su compariero, al que ayudaba a estudiar para el examen.
Mateo se reunio con su companero, a quien ayudaba a estudiar para el examen.
Guillermo encubrio al amigo al que inculparon del robo en el banco.

Guillermo encubrio al amigo a quien inculparon del robo en el banco.
Guillermo encubrié a su amigo, al que inculparon del robo en el banco.
Guillermo encubrio a su amigo, a quien inculparon del robo en el banco.

El gobierno destituyo al presidente al que acuso de mentir en las elecciones.

El gobierno destituyo al presidente a quien acuso de mentir en las elecciones.
El gobierno destituyo a su presidente, al que acuso de mentir en las elecciones.
El gobierno destituyo a su presidente, a quien acuso de mentir en las elecciones.
El departamento contrato al profesor al que encargaria organizar los cursos.
El departamento contrato al profesor a quien encargaria organizar los cursos.
El departamento contrato a un profesor, al que encargaria organizar los cursos.
El departamento contrato a un profesor, a quien encargaria organizar los cursos.

3. Experimental stimuli of the contrast Que vs Donde

RES-QUE
RES-DONDE
NON-QUE
NON-DONDE
RES-QUE
RES-DONDE
NON-QUE
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Mis amigos fueron al festival en el que tocaban sus cantantes favoritos.

Mis amigos fueron al festival donde tocaban sus cantantes favoritos.

Mis amigos fueron a un festival, en el que tocaban sus cantantes favoritos.
Mis amigos fueron a un festival, donde tocaban sus cantantes favoritos.
Juan se mudo al pais del que procedia su madre biologica.

Juan se mudo al pais de donde procedia su madre biologica.

Juan se mudo a su pais, del que procedia su madre bioldgica.

Juan se mudo a su pais, de donde procedia su madre biologica.

La policia registro el barrio del que escaparon unos criminales anoche.

La policia registro el barrio de donde escaparon unos criminales anoche.
La policia registro mi barrio, del que escaparon unos criminales anoche.
La policia registré mi barrio, de donde escaparon unos criminales anoche.
La facultad cerro la biblioteca en la que estudiaban los alumnos del mdster.
La facultad cerro la biblioteca donde estudiaban los alumnos del master.
La facultad cerro su biblioteca, en la que estudiaban los alumnos del master.
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La facultad cerro su biblioteca, donde estudiaban los alumnos del master.

El pueblo podo el bosque del que emergian las plagas de insectos.

El pueblo podo el bosque de donde emergian las plagas de insectos.

El pueblo podo su bosque, del que emergian las plagas de insectos.

El pueblo podo su bosque, de donde emergian las plagas de insectos.

El equipo reformo el estadio en el que hubo una avalancha el ario pasado.

El equipo reformo el estadio donde hubo una avalancha el aiio pasado.

El equipo reformo su estadio, en el que hubo una avalancha el ario pasado.

El equipo reformo su estadio, donde hubo una avalancha el ario pasado.

Elena dirige la empresa en la que empezo mi hermana a trabajar.

Elena dirige la empresa donde empezo mi hermana a trabajar.

Elena dirige su empresa, en la que empezo mi hermana a trabajar.

Elena dirige su empresa, donde empezo mi hermana a trabajar.

Mis amigos abrieron el restaurante en el que celebraron mis padres una cena.
Mis amigos abrieron el restaurante donde celebraron mis padres una cena.
Mis amigos abrieron un restaurante, en el que celebraron mis padres una cena.
Mis amigos abrieron un restaurante, donde celebraron mis padres una cena.
La ciudad inauguro el puerto del que partirian los barcos de mercancias.

La ciudad inauguro el puerto de donde partirian los barcos de mercancias.

La ciudad inauguro su puerto, del que partirian los barcos de mercancias.

La ciudad inauguro su puerto, de donde partirian los barcos de mercancias.
La universidad vallo el terreno al que acudian los jovenes de fiesta.

La universidad vallo el terreno donde acudian los jovenes de fiesta.

La universidad vallo su terreno, al que acudian los jovenes de fiesta.

La universidad vallo su terreno, donde acudian los jovenes de fiesta.

El principe regreso al imperio del que huyeron sus padres tras la rebelion.

El principe regreso al imperio de donde huyeron sus padres tras la rebelion.
El principe regreso a su imperio, del que huyeron sus padres tras la rebelion.
El principe regreso a su imperio, de donde huyeron sus padres tras la rebelion.
El director premio al colegio en el que estudiaban los alumnos mas brillantes.
El director premio al colegio donde estudiaban los alumnos mas brillantes.

El director premio a su colegio, en el que estudiaban los alumnos mads brillantes.
El director premio a su colegio, donde estudiaban los alumnos mas brillantes.
Mis padres visitaron la exposicion en la que participan artistas extranjeros.
Mis padres visitaron la exposicion donde participan artistas extranjeros.

Mis padres visitaron una exposicion, en la que participan artistas extranjeros.
Mis padres visitaron una exposicion, donde participan artistas extranjeros.
Fernando visito el pueblo en el que crecieron sus abuelos durante la guerra.
Fernando visito el pueblo donde crecieron sus abuelos durante la guerra.
Fernando visito su pueblo, en el que crecieron sus abuelos durante la guerra.
Fernando visito su pueblo, donde crecieron sus abuelos durante la guerra.

El granjero cultivo el campo en el que habia abundante agua para regar.

El granjero cultivo el campo donde habia abundante agua para regar.

El granjero cultivo su campo, en el que habia abundante agua para regar.

El granjero cultivo su campo, donde habia abundante agua para regar.
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El casero limpio el apartamento al que llegarian los nuevos inquilinos.

El casero limpio el apartamento donde llegarian los nuevos inquilinos.

El casero limpio su apartamento, al que llegarian los nuevos inquilinos.

El casero limpio su apartamento, donde llegarian los nuevos inquilinos.

La escuela reformo el patio al que salian los nifios en el recreo.

La escuela reformo el patio donde salian los nifios en el recreo.

La escuela reformo su patio, al que salian los nifios en el recreo.

La escuela reformo su patio, donde salian los nifios en el recreo.

El médico trabajaba en el hospital en el que estaban los enfermos mas graves.
El médico trabajaba en el hospital donde estaban los enfermos mds graves.
El médico trabajaba en un hospital, en el que estaban los enfermos mas graves.
El médico trabajaba en un hospital, donde estaban los enfermos mds graves.
El fontanero visito el edificio del que provenia la fuga de agua.

El fontanero visito el edificio de donde provenia la fuga de agua.

El fontanero visito mi edificio, del que provenia una fuga de agua.

El fontanero visito mi edificio, de donde provenia una fuga de agua.

El alcalde cerro el parque en el que jugaban los nifios por las tardes.

El alcalde cerro el parque donde jugaban los nifios por las tardes.

El alcalde cerro un parque, en el que jugaban los nifios por las tardes.

El alcalde cerro el parque, donde jugaban los nifios por las tardes.

Mis abuelos vivian en el barrio al que iban los universitarios de fiesta.

Mis abuelos vivian en el barrio donde iban los universitarios de fiesta.

Mis abuelos vivian en su barrio, al que iban los universitarios de fiesta.

Mis abuelos vivian en su barrio, donde iban los universitarios de fiesta.

El teatro reparo el escenario en el que ensayaban los actores los domingos.
El teatro reparo el escenario donde ensayaban los actores los domingos.

El teatro reparo su escenario, en el que ensayaban los actores los domingos.
El teatro reparo su escenario, donde ensayaban los actores los domingos.

El pueblo celebrara el mercado al que asisten los comerciantes de la region.
El pueblo celebrara el mercado donde asisten los comerciantes de la region.
El pueblo celebrard un mercado, al que asistiran los comerciantes de la region.
El pueblo celebrara un mercado, donde asistiran los comerciantes de la region.
La policia registro el pueblo del que procedia el hombre asesinado.

La policia registro el pueblo de donde procedia el hombre asesinado.

La policia registro mi pueblo, del que procedia el hombre asesinado.

La policia registré mi pueblo, de donde procedia el hombre asesinado.

Mi hermana decoro el piso al que fueron sus amigos a vivir.

Mi hermana decoro el piso donde fueron sus amigos a vivir.

Mi hermana decoro su piso, al que fueron sus amigos a vivir.

Mi hermana decoro su piso, donde fueron sus amigos a vivir.

El incendio arraso el monte en el que paseaban los pastores con sus ovejas.
El incendio arrasé el monte donde paseaban los pastores con sus ovejas.

El incendio arraso el monte, en el que paseaban los pastores con sus ovejas.
El incendio arrasé el monte, donde paseaban los pastores con sus ovejas.

El ayuntamiento arreglard la carretera en la que sufrio mi vecino un accidente.
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El ayuntamiento arreglard la carretera donde sufrio mi vecino un accidente.

El ayuntamiento arreglara mi carretera, en la que sufrio mi vecino un accidente.
El ayuntamiento arreglara mi carretera, donde sufrio mi vecino un accidente.
El decano organizo el congreso en el que participaron investigadores famosos.
El decano organizo el congreso donde participaron investigadores famosos.

El decano organizo un congreso, en el que participaron investigadores famosos.
El decano organizo un congreso, donde participaron investigadores famosos.
La policia corto la calle por la que atravesaria el desfile de carnaval.

La policia corto la calle por donde atravesaria el desfile de carnaval.

La policia corto una calle, por la que atravesaria el desfile de carnaval.

La policia corto una calle, por donde atravesaria el desfile de carnaval.

La ciudad inaugurara el museo al que asistiran los pintores mds conocidos.

La ciudad inaugurara el museo donde asistiran los pintores mas conocidos.

La ciudad inaugurara un museo, al que asistiran los pintores mds conocidos.
La ciudad inaugurara un museo, donde asistiran los pintores mds conocidos.
El arquitecto inspecciono el piso del que procedia la averia en la electricidad.
El arquitecto inspecciono el piso de donde procedia la averia en la electricidad.
El arquitecto inspecciond mi piso, del que procedia la averia en la electricidad.
El arquitecto inspecciono mi piso, de donde procedia la averia en la electricidad.
El alcalde cerro el instituto en el que estudiaban pocos alumnos de bachiller.
El alcalde cerro el instituto donde estudiaban pocos alumnos de bachiller.

El alcalde cerro el instituto, en el que estudiaban pocos alumnos de bachiller.
El alcalde cerro el instituto, donde estudiaban pocos alumnos de bachiller.

El jardinero arreglo el jardin en el que celebrariamos la fiesta de cumplearios.
El jardinero arreglo el jardin donde celebrariamos la fiesta de cumplearios.

El jardinero arreglo mi jardin, en el que celebrariamos la fiesta de cumplearios.
El jardinero arreglo mi jardin, donde celebrariamos la fiesta de cumplearios.
La biblioteca cerro la sala en la que estaban los estudiantes hablando.

La biblioteca cerré la sala donde estaban los estudiantes hablando.

La biblioteca cerro una sala, en la que estaban los estudiantes hablando.

La biblioteca cerro una sala, donde estaban los estudiantes hablando.

Laura visito la prision en la que estaba su hermano encarcelado.

Laura visito la prision donde estaba su hermano encarcelado.

Laura visito la prision, en la que estaba su hermano encarcelado.

Laura visito la prision, donde estaba su hermano encarcelado.

La banda cancelo el concierto al que asistirian sus seguidores mas fieles.

La banda cancelo el concierto donde asistirian sus seguidores mas fieles.

La banda cancelo su concierto, al que asistirian sus seguidores mds fieles.

La banda cancelo su concierto, donde asistirian sus seguidores mas fieles.
Cristian limpio el piso al que trasladarian sus padres los muebles.

Cristian limpio el piso donde trasladarian sus padres los muebles.

Cristian limpio su piso, al que trasladarian sus padres los muebles.

Cristian limpio su piso, donde trasladarian sus padres los muebles.

La policia registro el barrio del que proceden los muchachos desaparecidos.
La policia registro el barrio de donde proceden los muchachos desaparecidos.
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La policia registro mi barrio, del que proceden los muchachos desaparecidos.
La policia registro mi barrio, de donde proceden los muchachos desaparecidos.
Los estudiantes decoraron la residencia en la que pasarian los dias de navidad.
Los estudiantes decoraron la residencia donde pasarian los dias de navidad.
Los estudiantes decoraron su residencia, en la que pasarian los dias de navidad.
Los estudiantes decoraron su residencia, donde pasarian los dias de navidad.
La universidad cerro el laboratorio del que provenia la fuga radioactiva.

La universidad cerro el laboratorio de donde provenia la fuga radioactiva.

La universidad cerro su laboratorio, del que provenia la fuga radioactiva.

La universidad cerro su laboratorio, de donde provenia la fuga radioactiva.

La ciudad cerro el teatro al que acudian pocos espectadores al ario.

La ciudad cerro el teatro donde acudian pocos espectadores al ario.

La ciudad cerro su teatro, al que acudian pocos espectadores al ario.

La ciudad cerro su teatro, donde acudian pocos espectadores al ano.

Pedro regreso al pais en el que crecio su padre de nifio.

Pedro regreso al pais donde crecio su padre de nirio.

Pedro regreso a su pais, en el que crecio su padre de nifio.

Pedro regreso a su pais, donde crecio su padre de nifio.

Javier incendio la academia en la que estudiaba mi primo aleman.

Javier incendio la academia donde estudiaba mi primo aleman.

Javier incendio su academia, en la que estudiaba mi primo aleman.

Javier incendio su academia, donde estudiaba mi primo aleman.

El pueblo vallo la carretera por la que cruzaban los animales del monte.

El pueblo vallo la carretera por donde cruzaban los animales del monte.

El pueblo vallo su carretera, por la que cruzaban los animales del monte.

El pueblo vallo su carretera, por donde cruzaban los animales del monte.

La policia registro el restaurante del que escaparon los miembros de la mafia.
La policia registro el restaurante de donde escaparon los miembros de la mafia.
La policia registro mi restaurante, del que escaparon los miembros de la mafia.
La policia registro mi restaurante, de donde escaparon los miembros de la mafia.
La ciudad inauguro el aeropuerto del que partiran los vuelos internacionales.
La ciudad inauguro el aeropuerto de donde partiran los vuelos internacionales.
La ciudad inauguro su aeropuerto, del que partiran los vuelos internacionales.
La ciudad inauguro su aeropuerto, de donde partiran los vuelos internacionales.
El pueblo limpiara el rio en el que nadan los nifios en verano.

El pueblo limpiara el rio donde nadan los nifios en verano.

El pueblo limpiarad su rio, en el que nadan los nifios en verano.

El pueblo limpiara su rio, donde nadan los nifios en verano.

Mis amigos visitaron el zoologico del que escaparon varios animales este mes.
Mis amigos visitaron el zoologico de donde escaparon varios animales este mes.
Mis amigos visitaron el zoologico, del que escaparon varios animales este mes.
Mis amigos visitaron el zoologico, de donde escaparon varios animales este mes.
El panadero cerro el comercio al que acudian los ciudadanos a comprar.

El panadero cerro el comercio donde acudian los ciudadanos a comprar.

El panadero cerro su comercio, al que acudian los ciudadanos a comprar.
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El panadero cerro su comercio, donde acudian los ciudadanos a comprar.

El pueblo cerrara el hotel al que iban los turistas de la ciudad.

El pueblo cerrara el hotel donde iban los turistas de la ciudad.

El pueblo cerrara su hotel, al que iban los turistas de la ciudad.

El pueblo cerrara su hotel, donde iban los turistas de la ciudad.

El maestro registro el colegio del que escaparon los nifios durante el recreo.
El maestro registro el colegio de donde escaparon los nifios durante el recreo.
El maestro registro su colegio, del que escaparon los nifios durante el recreo.
El maestro registro su colegio, de donde escaparon los nifios durante el recreo.
El ayuntamiento reformo el patio en el que tenian los vecinos sus reuniones.

El ayuntamiento reformo el patio donde tenian los vecinos sus reuniones.

El ayuntamiento reformo su patio, en el que tenian los vecinos sus reuniones.
El ayuntamiento reformo su patio, donde tenian los vecinos sus reuniones.

El baile se organizara en el salon en el que colocaron los camareros las mesas.
El baile se organizard en el salon donde colocaron los camareros las mesas.
El baile se organizard en un salon, en el que colocaron los camareros las mesas.
El baile se organizard en un salon, donde colocaron los camareros las mesas.
Alba vendio el apartamento en el que vivieron sus padres de jovenes.

Alba vendio el apartamento donde vivieron sus padres de jovenes.

Alba vendio su apartamento, en el que vivieron sus padres de jovenes.

Alba vendio su apartamento, donde vivieron sus padres de jovenes.

La policia registro la vivienda en la que robaron unos ladrones anoche.

La policia registro la vivienda donde robaron unos ladrones anoche.

La policia registré mi vivienda, en la que robaron unos ladrones anoche.

La policia registro mi vivienda, donde robaron unos ladrones anoche.

El principe vivia en el castillo al que huyeron sus padres durante el exilio.

El principe vivia en el castillo donde huyeron sus padres durante el exilio.

El principe vivia en un castillo, al que huyeron sus padres durante el exilio.

El principe vivia en un castillo, donde huyeron sus padres durante el exilio.

Section C. Supplementary material for the comprehension questions

Table S1.1. Models’ comparisons using Likelihood-ratio test (LRT) for response

accuracy in the contrast Que versus E/ cual. The asterisk in the last column represents a

p-value below the significance level of 0.05.

Model's selection

Sampling Units

N total obs = 2688
N Subjects = 48; N items = 28

Model Model

Nested / | Fixed Random Effects Model fit

LRT Test




specification | name simpler Effects against
Model added nested
Subjects | Items AIC |BIC |LL df | X2
REonly  |Null - - | [intercept [intercept [ 770.25 [ 787.94 {38213 | |
FE main Main RC type + . .
offects effects Null relativizer intercept | intercept | 772.35 | 801.83 [-381.17 | 2|1.90
RC type +
FE two-way | Two-way | Main relativizer + . . %
interactions | interaction | effects RCtype*relat intercept  fintercept | 770.51 | 803.89 -379.26 | 1]3.83
ivizer
RC type +
Two-way b
FE two-way |. .? | Two-way |[relativizer + . Slope %
interactions 12nteract10n interaction | RCtype*relat intercept | o' "o 737.421784.60 |1-360.71 | 2|37.08
ivizer
RC type +
Two-way [ Two-way b
FE two-way |. . . .7 | relativizer + Slope for | Slope
interactions 13nteract10n 12nteract10n RCtype*relat RT for RT 742.60 | 801.56 | -361.3 210
ivizer

Table S1.2. Results of the linear mixed-effect model for response accuracy in the

contrast Que versus El cual. The top of the table reports estimates/beta values, standard

error (SE), confidence intervals (95% CI), z-values and levels of significance for fixed

effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta | SE 95% CI z p

Intercept 3.87 1034] 3.19 4.55]11.22(<.001
RC type 069 1032] 0.05 134]212 ]| .10
Relativizer 0.60 [031] -0.01 121|190 ] .10
RC type*relativizer| -0.95 |0.47] -1.87 -0.02] -2.01| .10

Random Effects

Variance S.D. Correlation
Participant (intercept) 4.823 e-01 0.69




Items (slope for RT)

[1.272 c-06|

0.001 |

-0.9

Table S2.1. Models’ comparisons using Likelihood-ratio test (LRT) for response

accuracy in the contrast Que versus Quien. The asterisk in the last column represents a

p-value below the significance level of 0.05.

Model's selection

) ) N total obs = 2688
Sampling Units ) )
N Subjects = 48; N items = 28
LRT Test
MOd.i_l atio | Model Nflfteldr/ Fixed Effects | | Random Effects Model fit against
flpec1 16a%0 | hame Is\tlogei added nested
Subjects | Items AIC |BIC LL df | X2
REonly | Null : - | [intercept |intercept 9075792526 [-450.78 | |
FE main Main RC type + . .
effects effects Null relativizer intercept | intercept [ 910.28 | 939.76 | -450.14 | 2| 1.29
RC type +
FE two-way | Two-way Main relativizer + . .
interactions | interaction | effects RCtype*relati intercept | intercept | 911.22 1946.60 | -449.61 | 111.05
vizer
FE two-way Two-way 1.0 way iil‘:i};l;;; + Slope
= . . = . _ *
interactions 12nteract10n interaction | RCtype*relati intercept | o' "o 862.62 (909.79 [-423.31 | 2(52.60
vizer
RC type +
Two-way Two-way b
FE two-way | . . . i relativizer + Slope for | Slope "
interactions 13nteract10n 12nteract10n RCtype*relati | | RT for RT 859.451918.41 (-419.72 | 217.17
vizer

Table S2.2. Results of the linear mixed-effect model for response accuracy in the

contrast Que versus Quien. The top of the table reports estimates/beta values, standard

error (SE), confidence intervals (95% CI), z-values and levels of significance for fixed

effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.




Fixed Effects
Est/Beta | SE 95% CI z p
Intercept 4.65 0.38[3.90 5.41]12.17|<.001
RC type -0.49 [032]-1.14 0.14 | -1.51| .25
Relativizer -0.72 1032 |-1.35 -0.09( -2.25| .07
RC type*relativizer 0.66 0.431-0.18 1.50 | 1.53 [ .25
Random Effects

Variance S.D. Correlation
Participant (slope for RT) | 3.860 e-07 0.0006
Items (slope for RT) 9.961 e-07| 0.0009 -0.77

Table S3.1. Models’ comparisons using Likelihood-ratio test (LRT) for response

accuracy in the contrast Que versus Donde. The asterisk in the last column represents a

p-value below the significance level of 0.05.

Model's selection

) ) N total obs = 2688
Sampling Units . )
N Subjects = 48; N items = 28
. LRT Test
Model Model Nested / Fixed Random Effects Model fit against
specificatio simpler Effects nested
n flame Model added
Subjects | Items AIC BIC LL df (X2
REonly  |Null : : | [intercept |intercept[929.29 |946.98 |-461.64 | |
FE main Main RC type + . .
effects effects Null relativizer intercept | intercept | 933.21 [ 962.69 | -461.61 210.07
RC type +
FE two-way | Two-way Main relativizer + | | . . "
interactions | interaction | effects RCtype*rel intercept | intercept | 929.70 | 965.08 | -458.85 115.51
ativizer
FE two-way Two-way 0 way Fe(li‘:i}:/ri)zet + Slope
- . . - . . *
interactions 12nteract10n interaction | RCtype*rel intercept | o' b 881.88 1929.05 | -432.94 2(51.81
ativizer




FE two-way
interactions

Two-way
interaction
3

Two-way
interaction
2

RC type +

relativizer +
RCtype*rel RT
ativizer

Slope for

Slope

for RT 881.36

940.33

-430.68

4.51

Table S3.2. Results of the linear mixed-effect model for response accuracy in the

contrast Que versus Donde. The top of the table reports estimates/beta values, standard

error (SE), confidence intervals (95% CI), z-values and levels of significance for fixed

effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta | SE 95% CI z p
Intercept 391 033 325 4.56|11.66|<.001
RC type 0.51 0.30( -0.08 1.12 | 1.68 | .18
Relativizer 0.38 030 -020 098 1.28 | .19
RC type*relativizer -1.09 1043 -1.94 -0.25]-2.54| .03
Random Effects

Variance S.D. Correlation
Participant (slope for RT) | 5.529 e-07| 0.0007
Items (slope for RT) 1.057 e-06 0.001 -0.91

Section D. Supplementary material of the eye-movement measures for the contrast Que

vs. El cual

Table S1.1. Mean reading times by condition at R3, R4 and RS for the contrast Que vs.

El cual. Eye-movement measures are first-fixation rate (FFR), first fixation (FF), first-

pass duration (FPD), first-pass regression (FPR), quasi first-pass reading time (QFP),

second-pass duration (SPD). The numbers in parentheses indicate standard deviation.

. RESTRICTIVE NON-RESTRICTIVE
Region Measure
QUE EL CUAL QUE EL CUAL
R3 FFR (%) 0.92 (0.27) 0.91 (0.29) 0.92 (0.28) 0.90 (0.30)




FF (ms) | 243.68(128.79) | 242.68 (132.78) | 246.38 (141.75) | 246.69 (149.88)

FPD (ms) | 273.97 (166.53) | 270.78 (162.18) | 273.04 (170.03) | 272.08 (176.35)
FPR (%) 0.16 (0.36) 0.14 (0.35) 0.23 (0.42) 0.22 (0.42)

QFP (ms) | 290.15(194.9) | 285.77 (182.53) | 287.56 (187.82) | 282.25(186.29)

SPD (ms) | 67.4(199.71) 55.57(180.25) | 104.33(357.39) | 73.16 (173.58)
FFR (%) 0.86 (0.35) 0.94 (0.24) 0.90 (0.30) 0.90 (0.30)

FF (ms) | 229.46 (147.31) | 281.1(152.9) | 228.59 (136.15) | 265.84 (160.27)

r4 FPD (ms) | 237.84(159.98) | 299.52(167.85) | 234.34 (147.04) | 276.62 (170.37)
FPR (%) 0.12 (0.33) 0.19 (0.39) 0.11 (0.32) 0.13 (0.33)

QFP (ms) | 241.69 (162.75) | 309.75(180.8) | 240.13 (156.78) | 282.91 (177.19)

SPD (ms) | 38.66(131.26) | 71.15(198.74) | 35.57(129.77) | 46.16(162.04)
FFR (%) 0.82 (0.39) 0.85 (0.35) 0.81 (0.40) 0.85 (0.35)

FF (ms) | 179.65(114.04) | 184.15(98.68) 170.97 (98.51) 181.77 (96.96)

RS FPD (ms) | 232.18 (184.32) | 22574 (155.37) | 211.76 (149.14) | 223.29 (154.24)
FPR (%) 0.09 (0.29) 0.11 (0.31) 0.08 (0.28) 0.07 (0.25)

QFP (ms) | 242.63(198.97) | 242.69 (185.79) | 224.06 (168.22) | 234.01 (170.31)

SPD (ms) | 44.07(167.33) | 66.14(263.69) | 42.74(194.29) | 37.26(198.78)

Section S1.2. Models’ reports for eye-movement measures at R3

Table S2.1. Models’ comparisons using Likelihood-ratio test (LRT) for first fixation at

R3 in the contrast Que versus El cual. The asterisk in the last column represents a p-

value below the significance level of 0.05.

Model's selection

N total obs = 2688
Sampling Units ) ]
N Subjects = 48; N items = 28
. LRT Test
Model Model Nested / | Fixed Random Effects Model fit against
specificati simpler | Effects nested
on fname Model |added
Subjects | Items AIC |BIC LL df X2
Slope
Slope for [ for RC
RE only Null - - RC type + | type + 33686 33769 | -16829
relativizer | relativiz
er
Slope
. . Slope for | for RC
FE mam | Main Null  |REBPET |l pcype+ [type+ | 33690 | 33784 -16829 0.32
effects effects relativizer e .
relativizer | relativiz
er




Slope

FE two- Two-wa Main iﬁ:i{lri)ze—ir_ + Slope for | for RC

way . 4 RC type + |type + 33692 33792 -16829 110
) . interaction |effects | RCtype*rela oh .

interactions tivizer relativizer |relativiz

cr

Table S2.2. Results of the linear mixed-effect model for first fixation at R3 in the
contrast Que versus El cual. The top of the table reports estimates/beta values, standard
error (SE), confidence intervals (95% CI), ¢-values and levels of significance for fixed
effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t P
Intercept 242.68 [10.9061221.30 264.06 [22.25| <.001
RC type 4.01 7.568 | -10.82 18.84 | 0.53 1.00
Relativizer 099 | 6.759 | -12.25 1424 | 0.14 1.00
RC type*relativizer| -1.30 | 9.426 | -19.78 17.16 | -0.13 1.00

Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 593.40 |24.36
Participant (slope for relativizer) 3779 | 6.14 0.39
Items (slope for RC type) 13.52 | 3.67
Items (slope for relativizer) 13.23 | 3.63 -1.00

Table S2.3. Models’ comparisons using Likelihood-ratio test (LRT) for the first-fixation
rate at R3 in the contrast Que versus El cual. The asterisk in the last column represents a

p-value below the significance level of 0.05.

Model's selection

N total obs = 2688
Sampling Units ) )

N Subjects = 48; N items = 28

Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested

Model Subjects Items AIC (BIC [LL df | X2




Slope for Slope for
RE only Null - - RC type+ |RC type+ | 1466.8 | 1543.5|-720.41
relativizer | relativizer
. . Slope for Slope for
+
Fhomain - Main gy |RE e RCtype + |RCtype+ | 1470.0 | 1558.4 |-719.98 0.85
effects effects relativizer oh Jr
relativizer | relativizer
FE two-way | Two-way [Main i(ljatlt'};?:ed: + Slope for Slope for
) way Y | |RCtype + |RC type+ |1471.8 | 1566.1 |-719.88 0.20
interactions | interaction | effects | RCtype*relati b oh
vizer relativizer | relativizer

Table S2.4. Results of the linear mixed-effect model for first-fixation rate at R3 in the

contrast Que versus El cual. The top of the table reports estimates/beta values, standard

error (SE), confidence intervals (95% CI), z-values and levels of significance for fixed

effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Table S2.5.

Fixed Effects
Est/Beta| SE 95% CI z p
Intercept 3.13 (031250 376 |9.80( <.001
RC type -0.30 [0.28-0.85| 0.24 [-1.07 .84
Relativizer -0.05 [0.27[-0.58 0.47 [-0.21 1.00
RC type*relativizer| 0.14 [0.30(-0.46 0.74 | 045 1.00
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 0.53 0.72
Participant (slope for relativizer) 020 ]0.45 0.65
Items (slope for RC type) 0.004 | 0.06
Items (slope for relativizer) 0.03 0.18 -1.00

Models’ comparisons using Likelihood-ratio test (LRT) for first-pass

duration at R3 in the contrast Que versus El cual. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection




N total obs = 2688

Sampling Units ) ]
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects Items AIC |BIC |LL df [ X2
Slope for Slope for
RE only Null - - RCtype+ |RCtype+ | 34731 | 34814(-17352
relativizer | relativizer
. . Slope for Slope for
J’_
FEmamn | Main Null | REbpe RC type + |RC type + | 34735 | 34830(-17352| 2|o0.11
effects effects relativizer oh Jr
relativizer | relativizer
RC type +
. oh Slope for Slope for
FE two-way | Two-way | Main —jrelativizer + | |\ p oo | petyne + | 34737 34837|-17352] 1]0.03
interactions | interaction | effects | RCtype*relati b oh
vizer relativizer | relativizer

Table S2.6. Results of the linear mixed-effect model for first-pass duration at R3 in the

contrast Que versus El cual. The top of the table reports estimates/beta values, standard

error (SE), confidence intervals (95% CI), t-values and levels of significance for fixed

effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t P
Intercept 270.78 1 13.29]244.71 296.84 |20.36| <.001
RC type 1.30 ] 9.69 | -17.69( 20.30 | 0.13 1.00
Relativizer 3.19 | 841 ] -1329 19.67 | 0.37 1.00
RC type*relativizer | -2.22 |11.42] -24.60 20.15 | -0.19 1.00
Random Effects
Variance | S.D. | Correlation

Participant (slope for RC type) 1066.62 | 32.66
Participant (slope for relativizer) 7123 | 8.44 0.76
Items (slope for RC type) 183.61 |13.55

Items (slope for relativizer) 113.90 |10.67 -1.00




Table S2.7. Models’ comparisons using Likelihood-ratio test (LRT) for first-pass

regression at R3 in the contrast Que versus El cual. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

Sampling Units

N total obs = 2688

N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df |X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 2447.9 [2524.6 |-1211.0
relativizer | relativizer
. . Slope for | Slope for
FEmain | Main Null  [RC type RC type + [RC type + [ 2439.4 | 2527.9 [-1204.7 | 2|12.48*
effects effects relativizer oL oL
relativizer | relativizer
RC type +
. Jr Slope for | Slope for
- - +
FE two-way | Two-way | Main | relativizer + | | p 0o’ | R type + | 2441.4 [2535.8 [-12047 | 10
interactions | interaction | effects | RCtype*relati b ot
vizer relativizer | relativizer

Table S2.8. Results of the linear mixed-effect model for first-pass regression at R3 in

the contrast Que versus El cual. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), z-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI z p
Intercept -2.07 (0.197] -246  -1.68 | -10.52| <.001
RC type 0.50 ] 0.17 | 0.16 0.84 2.88 .01
Relativizer 022 017 ]-012 0.57 1.27 4
RC type*relativizer | -0.06 | 0.21 | -0.48  0.35 -0.3 .76

Random Effects




Variance | S.D. [ Correlation
Participant (slope for RC type) 0.02 0.16
Participant (slope for relativizer) 0.08 0.29 -0.9
Items (slope for RC type) 0.04 0.21
Items (slope for relativizer) 0.0008 | 0.02 -0.88

Table S2.9. Models’ comparisons using Likelihood-ratio test (LRT) for quasi first-pass

reading time at R3 in the contrast Que versus E/ cual. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units . )
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested
Model Subjects Items AIC |BIC |LL df | X2
Slope for Slope for
RE only Null - - RCtype+ |RCtype+ | 35232| 35315 -17602
relativizer | relativizer
. . Slope for Slope for
+
FEmain —Main 1y - [RCtype RC type + |RC type + | 3523535330 -17602| 20.52
effects effects relativizer b Jr
relativizer | relativizer
FE two-way | Two-way | Main ilcatlt'};?:ed: + Slope for Slope for
: way | Y .| |[RCtype+ |[RCtype+ | 35237|35338|-17602| 1]0.005
interactions | interaction | effects | RCtype*relati b 2
viger relativizer | relativizer

Table S2.10. Results of the linear mixed-effect model for quasi first-pass reading time at

R3 in the contrast Que versus El cual. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), ¢-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects

| Est/Beta | SE |

95% CI

| |




Intercept 285.76 | 15.45(255.47 316.06 |18.48| <.001

RC type -3.51 [10.98] -25.04 18.00 | -0.32 1.00

Relativizer 4.38 9.61 | -1445 2322 | 045 1.00

RC type*relativizer| 0.92 ]12.49( -23.56 25.41 | 0.07 1.00

Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 1460.1 |38.21
Participant (slope for relativizer) 26.3 5.12 0.26
Items (slope for RC type) 338.3 |18.39
Items (slope for relativizer) 384.7 |19.61 -1.00
Table S2.11. Models’ comparisons using Likelihood-ratio test (LRT) for second-pass

duration at R3 in the contrast Que versus El cual. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units . .
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 37009 | 37092 |-18491

relativizer | relativizer

Slope for | Slope for

FEmain 1 Main - [RCtype + RC type + | RC type + | 37008 | 37102|-18488| 2]5.50
effects effects relativizer o b
relativizer | relativizer
RC type +
. oh Slope for | Slope for
FE two-way | Two-way | Main - relativizer + | | p -io o I pcivne + | 37009 | 37109 |-18487| 1]1.18
interactions | interaction | effects | RCtype*relati b b
. relativizer | relativizer
vizer
Table S2.12. Results of the linear mixed-effect model for second-pass duration at R3 in

the contrast

Que versus El cual. The top of the table reports estimates/beta values,




standard error (SE), confidence intervals (95% CI), ¢-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 55.57 | 891 [ 38.10  73.03 | 6.23 <.001
RC type 17.59 |15.15( -12.10( 47.29 | 1.16 73
Relativizer 11.84 |14.84| -17.25 4092 | 0.79 73
RC type*relativizer [ 19.34 |17.80| -15.54 54.22 | 1.08 73
Random Effects
Variance | S.D. | Correlation

Participant (slope for RC type) 2701.13 | 51.97
Participant (slope for relativizer) 2302.32 | 47.98 1.00
Items (slope for RC type) 418.30 [20.45

Items (slope for relativizer) 387.32 |19.68 1.00

Section D.3. Models’ reports for eye-movement measures at R4

Table S3.1. Models’ comparisons using Likelihood-ratio test (LRT) for first fixation at

R4 in the contrast Que versus El cual. The asterisk in the last column represents a p-

value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects Items AIC |BIC |LL df | X2
Slope for | Slope for
RE only Null - - RC type + |RC type + | 33827 33910 -16900
relativizer [ relativizer
. . Slope for | Slope for
FE mamn | Main Null  [REOPE* | pCiype+ |RCtype+ | 33844 | 33938 |-16906| 2|0
effects effects relativizer b oh
relativizer |relativizer




RC type +

. bt Slope for | Slope for
FE two-way | Two-way | Main —relativizer + | | p 5ty | pctyne + | 33844 | 33944 |-16905| 1[2.20
interactions | interaction | effects | RCtype*rela it b
. . relativizer | relativizer
tivizer
Table S3.2. Results of the linear mixed-effect model for first fixation at R4 in the
contrast Que versus El cual. The top of the table reports estimates/beta values, standard
error (SE), confidence intervals (95% CI), ¢-values and levels of significance for fixed
effects; the bottom of the table reports variance and standard deviation (S.D.) for the
random effects, as well as their correlation.
Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 281.10 | 13.14(255.34 306.85 |21.39 <.001
RC type -15.25 |1 7.94 | -30.82  0.32 -1.92 A1
Relativizer -51.64 | 848 | -68.27 -35.00 | -6.08 <.001
RC type*relativizer | 14.38 | 9.67 | -4.58  33.35 1.48 A3
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 342.0 |18.49
Participant (slope for relativizer) 360.7 | 18.99 0.54
Items (slope for RC type) 256.9 ]16.03
Items (slope for relativizer) 495.7 |22.26 0.68
Table S3.3. Models’ comparisons using Likelihood-ratio test (LRT) for first-fixation
rate at R4 in the contrast Que versus El cual. The asterisk in the last column represents a
p-value below the significance level of 0.05.
Model's selection
) ) N total obs = 2688
Sampling Units . .
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2




Slope for | Slope for
RE only Null - - RC type + | RC type + | 1568.1 | 1644.8 | -771.05
relativizer | relativizer
. . Slope for | Slope for
J’_
FEmain | Main =, |RCtype RC type + | RC type + | 1567.7 | 1656.1 | -768.84 | 2|4.42
effects effects relativizer oh JE
relativizer | relativizer
RC type +
. oh Slope for | Slope for
FE two-way | Two-way | Main relativizer + | | p ooy I pctyne + [ 1556.5 | 16509 |-762.26 | 1]13.15%
interactions | interaction | effects | RCtype*relati b b
vizer relativizer | relativizer

Table S3.4. Results of the linear mixed-effect model for first-fixation rate at R4 in the

contrast Que versus El cual. The top of the table reports estimates/beta values, standard

error (SE), confidence intervals (95% CI), z-values and levels of significance for fixed

effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI z p
Intercept 346 (0.31] 2.83 4.08 10.89| <.001
RC type -0.72 1027 -1.26| -0.17 | -2.58 .009
Relativizer -1.03 026 -1.55 -0.52 | -3.94|] <.001
RC type*relativizer [ 1.08 |0.29( 0.51 1.65 3.72 <.001
Random Effects
Variance | S.D. [ Correlation

Participant (slope for RC type) 0.15 0.39
Participant (slope for relativizer) 0.01 0.14 0.57
Items (slope for RC type) 0.01 0.11

Items (slope for relativizer) 0.01 0.13 -0.92

Table S3.5. Models’ comparisons using Likelihood-ratio test (LRT) for first-pass

duration at R4 in the contrast Que versus El cual. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

Sampling Units

| N total obs = 2688




N Subjects = 48; N items = 28

Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects Items AIC |BIC LL df | X2
Slope for Slope for
RE only Null - - RC type + |[RC type + | 34269 | 34352|-17121
relativizer | relativizer
. . Slope for Slope for
FEmain—f Main =y [RCWRe pciype+ [RCtype + | 34270 | 34364 [-17119] 2322
effects effects relativizer b o
relativizer | relativizer
RC type +
. Jr Slope for Slope for
FE two-way | Two-way | Main jrelativizer + | | p i o | pciyne + | 34268 | 34369 |-17117] 1[3.43
interactions | interaction | effects | RCtype*relati b oh
viger relativizer | relativizer

Table S3.6. Results of the linear mixed-effect model for first-pass duration at R4 in the

contrast Que versus El cual. The top of the table reports estimates/beta values, standard

error (SE), confidence intervals (95% CI), ¢-values and levels of significance for fixed

effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 299.52 [14.65]270.80 328.24 [20.44| <.001
RC type -22.90 | 8.73 |-40.02 -5.77 |-2.62 017
Relativizer -61.68 | 9.22 |[-79.77 -43.59 |-6.68| <.001
RC type*relativizer | 19.40 |10.46] -1.11 39.91 1.85 .06
Random Effects
Variance | S.D. | Correlation

Participant (slope for RC type) 552.2 123.50
Participant (slope for relativizer) 379.0 (19.47 0.46

Items (slope for RC type) 281.2 [16.77
Items (slope for relativizer) 629.5 |[25.09 0.52




Table S3.7. Models’ comparisons using Likelihood-ratio test (LRT) for first-pass

regression at R4 in the contrast Que versus El cual. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

Sampling Units

N total obs = 2688
N Subjects = 48; N items = 28

Nested LRT Test
Mod.el . | Model / Fixed Effects | | Random Effects Model fit against
ipecnﬁcatlo name simpler | added nested
Model Subjects Items AIC (BIC (LL df [ X2
Slope for Slope for
RE only Null - - RCtype+ [RC type+ [1997.3 |12074.0 |-985.66
relativizer | relativizer
. . Slope for Slope for
FE main Main RC type + %
effects effects Null relativizer RC type - |RC type - 1991.3 2079.8 1 -980.65 2| 1001
relativizer | relativizer
RC type +
. Jr Slope for Slope for
- - +
FE two-way | Two-way | Main | relativizer + | | p o0 1R type+ | 1990.4 [ 2084.8 [-979.21 | 1]2.87
interactions | interaction | effects | RCtype*relati b b
vizer relativizer | relativizer

Table S3.8. Results of the linear mixed-effect model for first-pass regression at R4 in

the contrast Que versus El cual. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), z-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI z P
Intercept -1.69 [0.19]-2.06 -1.31 |-8.83| <.001
RC type -0.65 [0.20]-1.06| -0.24 [-3.10 .003
Relativizer -0.60 10.18(-0.97 -0.24 [-3.26 .003
RC type*relativizer| 0.45 ]0.24]-0.02  0.94 1.86 .06

Random Effects




Variance | S.D. | Correlation
Participant (slope for RC type) 0.08 |0.29
Participant (slope for relativizer) 0.03 0.17 -0.84
Items (slope for RC type) 0.23 0.48
Items (slope for relativizer) 0.07 0.27 0.27

Table S3.9. Models’ comparisons using Likelihood-ratio test (LRT) for quasi first-pass

reading time at R4 in the contrast Que versus E/ cual. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units i .
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 34524 | 34607 |-17248
relativizer | relativizer
. . Slope for | Slope for
FEmain 1 Main - [RCtype + RC type + | RC type + | 34495 | 34590 |-17232| 23274
effects effects relativizer o b
relativizer | relativizer
FE two-way | Two-way | Main Fei:i}:gz; + Slope for | Slope for
) way | WY .| |RC type + | RC type + | 34492 34592|-17229| 1[5.36%
interactions | interaction | effects | RCtype*relati b b
vizer relativizer | relativizer

Table S3.10. Results of the linear mixed-effect model for quasi first-pass reading time at

R4 in the contrast Que versus E! cual. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), ¢-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects

| Est/Beta | SE |

95% CI

IE

| v




Intercept 309.75 | 16.14(278.11 341.39 |19.19| <.001
RC type -26.83 | 9.05 | -44.57 -9.09 [-2.96 .006
Relativizer -68.06 | 9.72 [ -87.12 -48.99 |-6.99| <.001
RC type*relativizer [ 25.28 |10.91] 3.89 46.66 | 2.31 .02
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 827.2 |28.76
Participant (slope for relativizer) 704.5 26.54 0.47
Items (slope for RC type) 1449 ]12.04
Items (slope for relativizer) 571.1 [23.91 0.93

Table S3.11. Models’ comparisons using Likelihood-ratio test (LRT) for second-pass

duration at R4 in the contrast Que versus El cual. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units ) )
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC (BIC (LL df (X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 34783 | 34865 |-17377
relativizer | relativizer
. . Slope for | Slope for
J’_
FE mamn | Main Null  |REope RC type + | RC type + | 34778 | 34873 [-17373| 28.50*
effects effects relativizer oh JE
relativizer | relativizer
RC type +
. or Slope for | Slope for
FE two-way | Two-way | Main —relativizer + | | p oo | Retype + | 34777 34877 |-17372|  1]3.46
interactions | interaction | effects | RCtype*relati b b
vizer relativizer | relativizer

Table S3.12. Results of the linear mixed-effect model for second-pass duration at R4 in

the contrast Que versus El cual. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), ¢-values and levels of significance




for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 71.15 [11.01 49.57 9274 | 6.46 <.001
RC type -24.99 | 9.58 |-43.77 -6.20 |-2.60 .01
Relativizer -32.48 [10.08]-52.26 -12.71 |-3.22 .003
RC type*relativizer | 21.89 |11.70| -1.04  44.84 | 1.87 .06
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 331.8 [18.21
Participant (slope for relativizer) 953.1 |[30.87 -0.13
Items (slope for RC type) 460.0 [21.45
Items (slope for relativizer) 375.5 [19.38 0.75

Section D.4. Models’ reports for eye-movement measures at RS

Table S4.1. Models’ comparisons using Likelihood-ratio test (LRT) for first fixation at
RS in the contrast Que versus El cual. The asterisk in the last column represents a p-

value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units . .
N Subjects = 48; N items = 28

Nested LRT Test
Model Model |/ Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested

Model Subjects | Items AIC (BIC (LL df (X2

Slope for | Slope for
RE only Null - - RC type + | RC type + | 31956 32038 [ -15964
relativizer | relativizer

Slope for | Slope for
RC type + | RC type + | 31954 | 32049 -15961 | 2]5.30
relativizer | relativizer

FE main Main Null RC type +
effects effects u relativizer




RC type +
FE two-way |Two-way [Main |relativizer +
interactions | interaction | effects | RCtype*relati
vizer

Slope for | Slope for
RC type + | RC type + | 31956 32056 |-15961 1(0.85
relativizer | relativizer

Table S4.2. Results of the linear mixed-effect model for first fixation at RS in the
contrast Que versus El cual. The top of the table reports estimates/beta values, standard
error (SE), confidence intervals (95% CI), ¢-values and levels of significance for fixed
effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 184.15 |8.631167.23 201.08 |21.32| <.001
RC type -2.38 [5.70]-13.56  8.79 [-0.41 1
Relativizer -450 [5.19|-14.67 5.66 |[-0.86 1
RC type*relativizer | -6.29 [6.81]-19.65 7.07 [-0.92 1
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 4796 | 6.92
Participant (slope for relativizer) 27.78 | 5.27 1.00
Items (slope for RC type) 232.22 |15.23
Items (slope for relativizer) 87.05 | 9.33 -0.34

Table S4.3. Models’ comparisons using Likelihood-ratio test (LRT) for first-fixation
rate at RS in the contrast Que versus E/ cual. The asterisk in the last column represents a

p-value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units . .
N Subjects = 48; N items = 28

Nested LRT Test
Model Model |/ Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested

Model Subjects | Items AIC (BIC |(LL df | X2




Slope for | Slope for
RE only Null - - RC type + | RC type + | 2147.1 [ 2223.7 | -1060.5
relativizer | relativizer
. . Slope for | Slope for
J’_
FEmamn | Main Null  |RE e RC type + | RC type + | 2147.4 [ 2235.9 | -1058.7 3.64
effects effects relativizer b JE
relativizer | relativizer
RC type +
. oh Slope for | Slope for
FE two-way |Two-way |Main [relativizer +
interactions | interaction | effects | RCtype*relati RC type ~|RC type - [2148.8 22431 -1058.4 0.69
vizer relativizer | relativizer

Table S4.4. Results of the linear mixed-effect model for first-fixation rate at R5 in the

contrast Que versus El cual. The top of the table reports estimates/beta values, standard

error (SE), confidence intervals (95% CI), z-values and levels of significance for fixed

effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI z p
Intercept 2.13 [0.22] 1.69 2.56 9.66 <.001
RC type 0.16 [0.21(-0.25 0.58 | 0.78 79
Relativizer -0.24 [0.20]-0.64 0.16 [-1.17 1
RC type*relativizer [ -0.19 |0.23[-0.66 026 [-0.84 .79
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 0.09 | 0.31
Participant (slope for relativizer) 0.14 0.37 0.34
Items (slope for RC type) 0.19 0.44
Items (slope for relativizer) 0.18 0.42 -0.99

Table S4.5.

Models’ comparisons using Likelihood-ratio test (LRT) for first-pass

duration at R5 in the contrast Que versus El cual. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selecti

on

Sampling Units

| N total obs = 2688




N Subjects = 48; N items = 28

Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 34234 34317(-17103
relativizer | relativizer
. . Slope for | Slope for
FEmain - Main — gy [RCIRet I pCiype + | RCtype + | 34235 | 34320|-17101] 2{3.72
effects effects relativizer bt bt
relativizer | relativizer
RC type +
. Jr Slope for | Slope for
FE two-way | Two-way | Main —jrelativizer + | | p -\ oy | Rctype + | 34234 | 34334 |-17100] 1]3.01
interactions | interaction | effects | RCtype*relati b o
viger relativizer | relativizer

Table S4.6. Results of the linear mixed-effect model for first-pass duration at R5 in the
contrast Que versus El cual. The top of the table reports estimates/beta values, standard
error (SE), confidence intervals (95% CI), ¢-values and levels of significance for fixed

effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 225.74 [14.97]196.39 255.10 |15.07| <.001
RC type -245 | 8.60 [ -1932 1441 |-0.28 .88
Relativizer 6.44 | 834 | -992 2280 | 0.77 .88
RC type*relativizer [ -17.96 |10.35]-38.25 232 [-1.73 24
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 209.4 1447
Participant (slope for relativizer) 226.9 |[15.06 -0.95
Items (slope for RC type) 4523 |[21.27
Items (slope for relativizer) 318.8 |17.85 -0.84




Table S4.7. Models’ comparisons using Likelihood-ratio test (LRT) for first-pass

regression at R5 in the contrast Que versus El cual. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

Sampling Units

N total obs = 2688
N Subjects = 48; N items = 28

Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df [ X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 1538.8 [ 1615.5 | -756.42
relativizer | relativizer
. . Slope for | Slope for
+
FEmain —Main 1, [RCtype RC type + | RC type + | 1539.1 [ 16276 | -754.57 | 2|3.69
effects effects relativizer oL oL
relativizer | relativizer
RC type +
. Jr Slope for | Slope for
- - +
FE two-way | Two-way | Main | relativizer + | | p’ono'y | R type + | 1539.4 [ 1633.8 |-753.72 | 1]1.70
interactions | interaction | effects | RCtype*relati b ot
vizer relativizer | relativizer

Table S4.8. Results of the linear mixed-effect model for first-pass regression at RS in

the contrast Que versus El cual. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), z-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta | SE 95% CI z p
Intercept -2.47 (0.21(-290 -2.04 |-11.26] <.001
RC type -0.54 (0.24]-1.02 -0.07 | -2.28 .06
Relativizer -0.05 [0.22(-049  0.38 -0.22 .82
RC type*relativizer| 0.40 ]0.29]-0.17  0.97 1.37 33

Random Effects




Variance | S.D. | Correlation
Participant (slope for RC type) 0.09 0.31
Participant (slope for relativizer) 0.23 0.48 0.51
Items (slope for RC type) 0.003 0.06
Items (slope for relativizer) 0.004 0.06 0.99

Table S4.9. Models’ comparisons using Likelihood-ratio test (LRT) for quasi first-pass

reading time at RS in the contrast Que versus E/ cual. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

) ) N total obs = 2688
Sampling Units . .
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - RC type + | RC type + | 34842 34924 |-17407
relativizer | relativizer
. . Slope for | Slope for
FEmain | Main g, |RCtype+ RC type + | RC type + | 34841 34936 |-17405| 2|4.05
effects effects relativizer b b
relativizer | relativizer
J’_
FE two-way | Two-way [Main ilcatti}:/ri)zer + Slope for | Slope for
) way | Y | |RC type + | RC type + | 34843 | 34943 |-17404| 1]0.72
interactions | interaction | effects | RCtype*relati o b
vizer relativizer | relativizer

Table S4.10. Results of the linear mixed-effect model for quasi first-pass reading time at

R5 in the contrast Que versus El cual. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), #-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects

| Est/Beta | SE |

95% CI

|

i




Intercept 242.69 [17.52]1208.34 277.04 | 13.84 <.001
RC type -8.68 | 9.66 | -27.63 10.26 | -0.89 1.00
Relativizer -0.06 | 9.10 (-17.91 17.77 [-0.007 1.00
RC type*relativizer [ -9.88 |11.60]-32.62 12.85 | -0.85 1.00
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 351.04 | 18.73
Participant (slope for relativizer) 89.24 | 9.44 0.42
Items (slope for RC type) 528.24 | 22.98
Items (slope for relativizer) 384.46 | 19.60 0.76

Table S4.11. Models’ comparisons using Likelihood-ratio test (LRT) for second-pass

duration at RS in the contrast Que versus El cual. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

Sampling Units

N total obs = 2688
N Subjects = 48; N items = 28

Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 36359 36441 |-18165
relativizer | relativizer
. . Slope for | Slope for
+
FEmain | Main =, | RC type RC type + | RC type + | 36360 | 36454 |-18164| 2]2.97
effects effects relativizer b b
relativizer | relativizer
RC type +
. Jr Slope for | Slope for
- - +
FE two-way | Two-way | Main | relativizer = | | p oo | Retype + | 36359 | 36459 |-18162] 1]3.01
interactions | interaction | effects | RCtype*relati b ot
vizer relativizer | relativizer

Table S4.12. Results of the linear mixed-effect model for second-pass duration at RS in

the contrast Que versus El cual. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), z¢values and levels of significance




for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 66.14 [10.84| 44.89 87.38 | 6.10 <.001
RC type -28.88 |12.33(-53.04 -4.70 |[-2.34 .05
Relativizer -22.07 [12.12]-4582 1.69 |[-1.82 13
RC type*relativizer | 27.55 |15.86] -3.54  58.63 | 1.73 13
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 480.81 (21.92
Participant (slope for relativizer) 960.89 130.99 1.00
Items (slope for RC type) 454.34 (21.31
Items (slope for relativizer) 31.69 | 5.62 -1.00

Section E. Supplementary material of the eye-movement measures for the contrast Que

vs. Quien

Table S1. Mean reading times by condition at R3, R4 and RS for the contrast Que vs.

Quien. Eye-movement measures are first-fixation rate (FFR), first fixation (FF), first-

pass duration (FPD), first-pass regression (FPR), quasi first-pass reading time (QFP),

second-pass duration (SPD). The numbers in parentheses indicate standard deviation.

. RESTRICTIVE NON-RESTRICTIVE
Region Measure
QUE QUIEN QUE QUIEN
FFR (%) 0.92 (0.27) 0.92 (0.27) 0.95 (0.22) 0.92 (0.28)
FF (ms) 264.76 (140.7) 252.32 (138.34) 276.79 (146.44) 271.33 (164.08)
R3 FPD (ms) | 297.77 (173.88) 279.82 (159.73) 307.22 (178.94) 301.47 (193.14)
FPR (%) 0.15 (0.36) 0.15 (0.36) 0.26 (0.44) 0.28 (0.45)
QFP (ms) 308.31 (184.2) 296.6 (174.78) 324.61 (196.88) 319.35 (209.23)
SPD (ms) 62.34 (186.4) 71.39 (217.75) 111.48 (286.31) 121.65 (290.77)
FFR (%) 0.68 (0.47) 0.85(0.36) 0.71 (0.46) 0.83(0.38)
R4 FF (ms) 156.47 (125.74) 207.29 (117.24) 159.19 (121.07) 201.73 (118.45)
FPD (ms) 168.65 (139.95) 226.33 (144.09) 167.85 (132.99) 211.48 (129.5)
FPR (%) 0.07 (0.26) 0.06 (0.24) 0.06 (0.23) 0.05 (0.23)




QFP (ms) | 172.74 (146.33) | 233.34(153.24) | 17023 (136.41) | 215.05(135.7)

SPD (ms) | 25.29(114.21) | 33.03(180.33) | 26.04(153.73) | 21.53(123.42)
FFR (%) 0.87 (0.33) 0.87 (0.34) 0.84 (0.37) 0.86 (0.34)

FF (ms) 191.36 (96.31) 193.22 (97.29) 181.84 (98.43) 188.29 (93.24)

RS FPD (ms) | 251.72(162.43) | 233.72(149.3) | 234.78 (166.98) | 239.84 (166.74)
FPR (%) 0.17 (0.37) 0.07 (0.25) 0.07 (0.26) 0.06 (0.24)

QFP (ms) | 280.07(192.02) | 246.09 (168.13) | 243.69 (174.05) | 248.18 (179.61)

SPD (ms) | 90.33(267.82) | 52.09(252.16) 33.2 (164.11) 33.39 (170.29)

Section E.2. Models’ reports for eye-movement measures at R3

Table S2.1. Models’ comparisons using Likelihood-ratio test (LRT) for first fixation at
R3 in the contrast Que versus Quien. The asterisk in the last column represents a p-

value below the significance level of 0.05.

Model's selection

) ) N total obs = 2688
Sampling Units . .
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects Random Effects Model fit against nested
specification | name simpler | added Subjects | Items AIC BIC LL ar | x2
Model
Slope for | Slope for
RE only Null - - RC type + | RC type + | 34214 34297 |-17093
relativizer | relativizer
. . Slope for | Slope for
J’_
FE main | Main Null | REbpe RC type + | RC type + | 34210 | 34304 |-17089| 2|8.31*
effects effects relativizer b i
relativizer | relativizer
RC type +
. oh Slope for | Slope for
FE two-way |Two-way |Main [relativizer +
interactions | interaction | effects | RCtype*relati RC type + RC type + 342121 343121 -17089 | 11044
vizger relativizer | relativizer

Table S2.2. Results of the linear mixed-effect model for first fixation at R3 in the
contrast Que versus Quien. The top of the table reports estimates/beta values, standard

error (SE), confidence intervals (95% CI), t-values and levels of significance for fixed



effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 264.76 | 8.88 |247.35 282.16 [29.81| <.001
RC type 12.03 | 7.82 ] -3.29 27.37 1.53 34
Relativizer -12.43 | 7.88 |-27.89 3.02 -1.57 34
RC type*relativizer | 6.97 |10.47]-13.55 27.49 0.66 .50
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 3.058 e+02 | 17.48
Participant (slope for relativizer) 6.597 e+01 | 8.12 -0.54
Items (slope for RC type) 1.236 e-03 | 0.03
Items (slope for relativizer) 1.684 e+02112.97 -1.00

Table S2.3. Models’ comparisons using Likelihood-ratio test (LRT) for first-fixation

rate at R3 in the contrast Que versus Quien. The asterisk in the last column represents a

p-value below the significance level of 0.05.

Model's selection

) ) N total obs = 2688
Sampling Units . )
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 1350.6 | 1427.2 | -662.30
relativizer | relativizer
. . Slope for | Slope for
FEmain 1 Main ) [RCtype + RC type + | RC type + | 1352.8 | 1441.3 |-66142 | 2|1.75
effects effects relativizer b b
relativizer | relativizer
+
FE two-way | Two-way | Main Fe(l:a‘:i};ri);er-i- Slope for | Slope for
. way | Y .| |RC type + | RC type + | 1353.1 | 1447.4 |-660.53 | 1|1.76
interactions | interaction | effects | RCtype*relati b oh
viger relativizer | relativizer




Table S2.4.

Results of the linear mixed-effect model for first-fixation rate at R3 in the

contrast Que versus Quien. The top of the table reports estimates/beta values, standard

error (SE), confidence intervals (95% CI), z-values and levels of significance for fixed

effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Table S2.5.

Fixed Effects
Est/Beta| SE 95% CI z p
Intercept 284 10231237 330 |[11.92 <.001
RC type 047 10.29(-0.10 1.04 1.60 32
Relativizer -0.004 10.26(-0.53 052 |-0.01 .98
RC type*relativizer| 0.49 [0.34]-1.15 0.17 [-1.43 32
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 0.13 0.37
Participant (slope for relativizer) 0.12 0.34 -0.17
Items (slope for RC type) 0.09 0.30
Items (slope for relativizer) 0.10 0.31 0.81

Models’ comparisons using Likelihood-ratio test (LRT) for first-pass

duration at R3 in the contrast Que versus Quien. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

) ) N total obs = 2688
Sampling Units . .
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 35138 | 35221 |-17555
relativizer | relativizer




. . Slope for | Slope for
FEmain 1 Main - [RCtype + RC type + | RC type + | 35136 35230(-17552| 2]6.34*
effects effects relativizer bt bt
relativizer | relativizer
RC type +
. oh Slope for | Slope for
FE two-way | Two-way | Main —relativizer + | | p ooy | Rctype + | 35137 35237|-17552] 1]0.96
interactions | interaction | effects | RCtype*relati o o
. relativizer | relativizer
vizer
Table S2.6. Results of the linear mixed-effect model for first-pass duration at R3 in the
contrast Que versus Quien. The top of the table reports estimates/beta values, standard
error (SE), confidence intervals (95% CI), t-values and levels of significance for fixed
effects; the bottom of the table reports variance and standard deviation (S.D.) for the
random effects, as well as their correlation.
Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 297.77 111.07]276.06 319.48 26.88| <.001
RC type 9.44 947 | -9.11 28.01 0.99 .63
Relativizer -17.95 | 9.53 | -36.64 0.73 -1.88 17
RC type*relativizer | 12.20 |12.40|-12.09 36.51 0.98 .63
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 6.180 e+02 [ 24.85
Participant (slope for relativizer) 1.933 e+02 | 13.90 -0.63
Items (slope for RC type) 4.737 e-04 | 0.02
Items (slope for relativizer) 2.811e+02]16.76 0.16
Table S2.7. Models’ comparisons using Likelihood-ratio test (LRT) for first-pass
regression at R3 in the contrast Que versus Quien. The asterisk in the last column
represents a p-value below the significance level of 0.05.
Model's selection
) ) N total obs = 2688
Sampling Units . )
N Subjects = 48; N items = 28
Model Model Nested | Fixed Effects Model LRT Test
R . Random Effects .
specification [ name / added fit against




simpler nested
Model
Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 2610.6 [ 2687.2 | -1292.3
relativizer | relativizer
. . Slope for | Slope for
FEmain | Main g, |RCtype+ RC type + | RC type + | 2594.2 | 2682.7 | -1282.1 | 2]20.32+
effects effects relativizer 7L oY
relativizer | relativizer
FE two-way |Two-way |Main i(l:atti}:/?;e: + Slope for | Slope for
) way | Y -~ .| |RCtype+|RC type + |2595.6 [2689.9 |-1281.8 | 1]0.64
interactions | interaction | effects | RCtype*relati it !
vizger relativizer | relativizer

Table S2.8. Results of the linear mixed-effect model for first-pass regression at R3 in

the contrast Que versus Quien. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), z-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI z p
Intercept -1.90 10.17|-2.25 -1.55 |-10.78| <.001
RC type 0.65 10.18]0.30 1.01 3.64 <.001
Relativizer -0.02 (0.17(-0.36  0.31 -0.13 .89
RC type*relativizer | 0.16 ]0.20]-0.24  0.58 0.81 .83
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 0.21 0.46
Participant (slope for relativizer) 0.007 | 0.08 0.79
Items (slope for RC type) 0.09 0.30
Items (slope for relativizer) 0.03 0.19 -0.98

Table S2.9. Models’ comparisons using Likelihood-ratio test (LRT) for quasi first-pass

reading time at R3 in the contrast Que versus Quien. The asterisk in the last column

represents a p-value below the significance level of 0.05.




Model's selection

) ) N total obs = 2688
Sampling Units . .
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 35501 | 35584 (-17737
relativizer | relativizer
. . Slope for | Slope for
FEmain 1 Main ) [RCtype + RC type + | RC type + | 35499 | 35593 |-17734| 2]|6.238*
effects effects relativizer b ox
relativizer | relativizer
J’_
FE two-way | Two-way [Main ilcatti}:/ri)zer + Slope for | Slope for
) way | Y .| |RC type + | RC type + | 35500 | 35600 |-17733| 1]0.99
interactions | interaction | effects | RCtype*relati o b
vizer relativizer | relativizer

Table S2.10. Results of the linear mixed-effect model for quasi first-pass reading time at

R3 in the contrast Que versus Quien. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), #-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t P
Intercept 308.31 | 12.37(284.06 332.56 |2491| <.001
RC type 16.29 [10.12] -3.55  36.14 | 1.60 32
Relativizer -11.71 [10.00]-31.31 7.88 |-1.17 A48
RC type*relativizer| 6.46 |13.25]-19.51 3243 | 0.48 .62
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 702.46 |26.50
Participant (slope for relativizer) 185.61 |13.62 -0.19
Items (slope for RC type) 3.091 1.75




Items (slope for relativizer)

[ 23349 [1528] -100 |

Table S2.11. Models’ comparisons using Likelihood-ratio test (LRT) for second-pass

duration at R3 in the contrast Que versus Quien. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

) ) N total obs = 2688
Sampling Units ) )
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC (BIC (LL df (X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 37181 | 37264 |-18577
relativizer | relativizer
. . Slope for | Slope for
J’_
FE main | Main gy | RC type RC type + | RC type + | 37178 | 37272|-18573 | 2|7.34%
effects effects relativizer b JE
relativizer | relativizer
RC type +
. or Slope for | Slope for
FE two-way | Two-way | Main —jrelativizer + | | p ooy | Rctype + | 37180 | 37280 [-18573| 1]0.003
interactions | interaction | effects | RCtype*relati b b
vizer relativizer | relativizer

Table S2.12. Results of the linear mixed-effect model for second-pass duration at R3 in

the contrast Que versus Quien. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), ¢-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 6234 | 9.15 [ 4440 80.28 | 6.81 <.001
RC type 49.14 |18.29| 13.27 85.00 | 2.68 .02
Relativizer 9.05 ]14.841-20.03 38.14 | 0.61 1.00
RC type*relativizer| 1.11 |18.30(-34.76 36.98 | 0.06 1.00




Random Effects
Variance | S.D. [ Correlation
Participant (slope for RC type) 5451.0 |73.83
Participant (slope for relativizer) 1413.3 |37.59 1.00
Items (slope for RC type) 1505.6 |38.80
Items (slope for relativizer) 653.1 [25.55 -0.16

Section E.3. Models’ reports for eye-movement measures at R4

Table S3.1. Models’ comparisons using Likelihood-ratio test (LRT) for first fixation at

R4 in the contrast Que versus Quien. The asterisk in the last column represents a p-

value below the significance level of 0.05.

Model's selection

) ) N total obs = 2688
Sampling Units . .
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 32923 | 33006 | -16448
relativizer | relativizer
. . Slope for | Slope for
J’_
FEmain | Main =4, |RCtype RC type + | RC type + | 32881 | 32975 |-16425| 2|45.98+
effects effects relativizer b or
relativizer | relativizer
RC type +
. oh Slope for | Slope for
FE two-way | Two-way | Main —relativizer + | | p o I R type + | 32882 | 32082 |-16424| 1]1.03
interactions | interaction | effects | RCtype*relati b ox
vizger relativizer | relativizer

Table S3.2. Results of the linear mixed-effect model for first fixation at R4 in the

contrast Que versus Quien. The top of the table reports estimates/beta values, standard

error (SE), confidence intervals (95% CI), t-values and levels of significance for fixed




effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 156.47 [10.29]136.28 176.65 |15.19| <.001
RC type 2.71 6.61 [-10.24 15.68 | 0.41 .68
Relativizer 50.81 | 6.51 | 38.05 63.58 | 7.80 <.001
RC type*relativizer | -8.27 | 8.11 |-24.18  7.63 -1.01 .61
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 243.67 |15.61
Participant (slope for relativizer) 391.05 [19.77 -0.03
Items (slope for RC type) 160.17 |12.65
Items (slope for relativizer) 37.36 | 6.11 -0.33

Table S3.3. Models’ comparisons using Likelihood-ratio test (LRT) for first-fixation
rate at R4 in the contrast Que versus Quien. The asterisk in the last column represents a

p-value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units . .
N Subjects = 48; N items = 28

Nested LRT Test
Model Model |/ Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested

Model Subjects | Items AIC BIC LL df | X2

Slope for | Slope for
RE only Null - - RC type + | RC type + | 2592.9 [ 2669.6 | -1283.5
relativizer | relativizer

Slope for | Slope for
RC type + | RC type + | 2564.3 [ 2652.8 [ -1267.2 2132.62*
relativizer | relativizer

FE main Main Null RC type +
effects effects u relativizer




RC type +
FE two-way |Two-way [Main |relativizer +
interactions | interaction | effects | RCtype*relati
vizer

Slope for | Slope for
RC type + | RC type + | 2563.8 [ 2658.2 [ -1265.9 112.49
relativizer | relativizer

Table S3.4. Results of the linear mixed-effect model for first-fixation rate at R4 in the
contrast Que versus Quien. The top of the table reports estimates/beta values, standard
error (SE), confidence intervals (95% CI), z-values and levels of significance for fixed
effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI z P
Intercept 0.95 [0.20( 0.55 1.36 4.66 <.001
RC type 0.14 ]0.14|-0.14 0.42 0.97 33
Relativizer 1.15 ]0.17]0.79 1.50 6.40 <.001
RC type*relativizer| -0.33 [0.21]-0.75 0.07 [-1.60 21

Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 0.07 0.26
Participant (slope for relativizer) 0.25 0.50 1.00
Items (slope for RC type) 0.01 0.11
Items (slope for relativizer) 0.002 | 0.04 -1.00

Table S3.5. Models’ comparisons using Likelihood-ratio test (LRT) for first-pass
duration at R4 in the contrast Que versus Quien. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units . .
N Subjects = 48; N items = 28

Nested LRT Test
Model Model |/ Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested

Model Subjects | Items AIC (BIC (LL df (X2




Slope for | Slope for
RE only Null - - RC type + | RC type + | 33576 33659 |-16774
relativizer | relativizer
. . Slope for | Slope for
J’_
FEmamn | Main Null  |RE e RC type + | RC type + | 33536 | 33631 |-16752| 2|43.77%
effects effects relativizer oh JE
relativizer | relativizer
RC type +
. oh Slope for | Slope for
FE two-way | Two-way | Main jrelativizer + ' ) p oo IR type + | 33536 | 33636 |-16751 2.34
interactions | interaction | effects | RCtype*relati b b
vizer relativizer | relativizer

Table S3.6. Results of the linear mixed-effect model for first-pass duration at R4 in the
contrast Que versus Quien. The top of the table reports estimates/beta values, standard
error (SE), confidence intervals (95% CI), t-values and levels of significance for fixed

effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Table S3.7. Models’ comparisons using Likelihood-ratio test (LRT) for first-pass

regression at R4 in the contrast Que versus Quien. The asterisk in the last column

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 168.65 [11.71]145.69 191.61 |14.39( <.001
RC type -0.79 | 741 |-1533 13.73 |-0.10 91
Relativizer 57.68 | 7.12 | 43.70  71.65 | 8.09 <.001
RC type*relativizer | -14.05 | 9.17 | -32.03  3.91 -1.53 25
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 220.46 |14.84
Participant (slope for relativizer) 301.90 |17.37 0.15
Items (slope for RC type) 233.08 |15.26
Items (slope for relativizer) 69.44 | 8.33 -0.64

represents a p-value below the significance level of 0.05.

Model's selection

Sampling Units

N total obs = 2688




N Subjects = 48; N items = 28

Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df (X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 1215.7 [ 1292.3 | -594.85
relativizer | relativizer
. . Slope for | Slope for
FEmain —f Main =y [RCWRet I RCiype + | RC type + | 1218.6 | 1307.0 | -594.28 | 2[1.12
effects effects relativizer bt bt
relativizer | relativizer
RC type +
. Jr Slope for | Slope for
FE two-way |Two-way |Main |relativizer +
interactions | interaction | effects | RCtype*relati RC type | RC type - 1220.2 [ 1314.6 -394.13 1031
viger relativizer | relativizer

Table S3.8. Results of the linear mixed-effect model for first-pass regression at R4 in

the contrast Que versus Quien. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), z-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI z p
Intercept -2.87 (0.23(-3.33 -2.41 |-1221] <.001
RC type -0.35 10.31(-0.96 0.25 -1.13 77
Relativizer -0.14 ]0.30(-0.73  0.44 -0.47 1.00
RC type*relativizer | 0.21 ]0.38]-0.54  0.97 0.56 1.00
Random Effects
Variance | S.D. | Correlation

Participant (slope for RC type) 0.15 0.39
Participant (slope for relativizer) 0.12 0.34 -0.99

Items (slope for RC type) 0.15 0.39
Items (slope for relativizer) 0.15 0.39 -0.60




Table S3.9. Models’ comparisons using Likelihood-ratio test (LRT) for quasi first-pass
reading time at R4 in the contrast Que versus Quien. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units . .
N Subjects = 48; N items = 28

Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 33843 | 33926 |-16908
relativizer | relativizer
. . Slope for | Slope for
+
FEmain I Main 1y, [RCtype RC type + | RC type + | 33808 | 33902 [-16888 | 2|39.28+
effects effects relativizer oL oL
relativizer | relativizer
RC type +
. Jr Slope for | Slope for
- - +
FE two-way | Two-way | Main | relativizer = | | p o0 | Retype + | 33807 | 33907|-16887| 1]2.67
interactions | interaction | effects | RCtype*relati b ot
vizer relativizer | relativizer

Table S3.10. Results of the linear mixed-effect model for quasi first-pass reading time at
R4 in the contrast Que versus Quien. The top of the table reports estimates/beta values,
standard error (SE), confidence intervals (95% CI), #-values and levels of significance
for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t P
Intercept 172.74 [12.10]149.00 196.47 |14.26| <.001
RC type -2.50 | 7.94 |-18.06 13.05 |-0.31 75
Relativizer 60.60 | 7.73 | 4544 7575 | 7.83 <.001
RC type*relativizer | -15.77 | 9.64 | -34.67  3.12 [-1.63 .20
Random Effects




Variance | S.D. | Correlation
Participant (slope for RC type) 2719 [16.49
Participant (slope for relativizer) 3213 [17.92 0.02
Items (slope for RC type) 304.8 [17.46
Items (slope for relativizer) 185.5 [13.62 -0.56

Table S3.11. Models’ comparisons using Likelihood-ratio test (LRT) for second-pass

duration at R4 in the contrast Que versus Quien. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

) ) N total obs = 2688
Sampling Units . .
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 34389 | 34472 |-17181
relativizer | relativizer
. . Slope for | Slope for
+
FEmain I Main 1y, [RCtype RC type + | RC type + | 34393 | 34487 [-17180| 2|0.55
effects effects relativizer o oL
relativizer | relativizer
RC type +
. Jr Slope for | Slope for
- - +
FE two-way | Two-way | Main | relativizer = | | p o0 | Retype + | 34393 | 34494 |-17180| 1]1.24
interactions | interaction | effects | RCtype*relati b ot
vizer relativizer | relativizer

Table S3.12. Results of the linear mixed-effect model for second-pass duration at R4 in

the contrast Que versus Quien. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), #-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects

| Est/Beta | SE |

95% CI

| ]




Intercept 2529 [ 6.25 |1 13.03 3755 | 4.04 <.001
RC type 0.74 1921 |-17.31 18.80 | 0.08 .93
Relativizer 7.73 19.76 |-11.40 26.87 | 0.79 .85
RC type*relativizer | -12.24 [10.99(-33.78  9.29 |-1.11 .79
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 27488 [16.58
Participant (slope for relativizer) 514.54 122.68 -0.95
Items (slope for RC type) 525.08 2291
Items (slope for relativizer) 679.00 |26.05 -1.00

Section E.4. Models’ reports for eye-movement measures at RS

Table S4.1. Models’ comparisons using Likelihood-ratio test (LRT) for first fixation at

R5 in the contrast Que versus Quien. The asterisk in the last column represents a p-

value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units ) )
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC (BIC |(LL df [X2
Slope for | Slope for
RE only Null - - RC type + |RC type + | 31718 | 31800 | -15845
relativizer | relativizer
. . Slope for | Slope for
J’_
FE main | Main gy | RC type RC type + |RC type + | 31715| 31810|-15842| 2|6.30*
effects effects relativizer b b
relativizer | relativizer
RC type +
. or Slope for | Slope for
FE two-way |Two-way |Main [relativizer +
interactions | interaction | effects | RCtype*relati RC type ~|RC type | 317LT| 31817 -15842 11048
vizer relativizer | relativizer




Table S4.2. Results of the linear mixed-effect model for first fixation at RS in the
contrast Que versus Quien. The top of the table reports estimates/beta values, standard
error (SE), confidence intervals (95% CI), t-values and levels of significance for fixed
effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 191.36 |7.25[177.13 205.58 ]26.36| <.001
RC type -9.51 [4.88]-19.09 0.06 |[-1.94 15
Relativizer 1.86 [5.19( -8.31 12.04 | 0.35 .96
RC type*relativizer | 4.58 ]6.55] -8.26 17.43 | 0.69 .96
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 113.06 |10.63
Participant (slope for relativizer) 263.01 |16.21 0.96
Items (slope for RC type) 1.28 1.13
Items (slope for relativizer) 0.53 0.72 -1.00

Table S4.3. Models’ comparisons using Likelihood-ratio test (LRT) for first-fixation
rate at RS in the contrast Que versus Quien. The asterisk in the last column represents a

p-value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units . .
N Subjects = 48; N items = 28

Nested LRT Test
Model Model |/ Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested

Model Subjects | Items AIC (BIC |(LL df | X2

Slope for | Slope for
RE only Null - - RC type + | RC type + | 1960.0 [ 2036.7 | -967.00
relativizer | relativizer

Slope for | Slope for
RC type + | RC type + | 1963.3 [ 2051.8 [-966.67 210.67
relativizer | relativizer

FE main Main Null RC type +
effects effects u relativizer




RC type +

. Jr Slope for | Slope for
FE two-way | Two-way | Main —jrelativizer + | | p i 1 pctvne + [ 1962.8 | 2057.1 |-96539 | 1]2.56
interactions | interaction | effects | RCtype*relati o b
. relativizer | relativizer
vizer
Table S4.4. Results of the linear mixed-effect model for first-fixation rate at R5 in the
contrast Que versus Quien. The top of the table reports estimates/beta values, standard
error (SE), confidence intervals (95% CI), z-values and levels of significance for fixed
effects; the bottom of the table reports variance and standard deviation (S.D.) for the
random effects, as well as their correlation.
Fixed Effects
Est/Beta| SE 95% CI z P
Intercept 234 (0.21] 1.91 2.76 19.78 <.001
RC type -0.32 10.19(-0.70  0.05 -1.67 28
Relativizer -0.19 10.191-0.58 0.19 -0.96 33
RC type*relativizer| 0.39 [0.24[-0.08  0.87 1.62 28
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 0.09 0.31
Participant (slope for relativizer) 0.13 0.37 0.72
Items (slope for RC type) 0.0008 | 0.02
Items (slope for relativizer) 0.003 | 0.05 1.00
Table S4.5. Models’ comparisons using Likelihood-ratio test (LRT) for first-pass
duration at R5 in the contrast Que versus Quien. The asterisk in the last column
represents a p-value below the significance level of 0.05.
Model's selection
N total obs = 2688
Sampling Units i .
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2




Slope for | Slope for
RE only Null - - RC type + | RC type + | 34390 34473 |-17181
relativizer | relativizer
. . Slope for | Slope for
J’_
FEmain | Main =, |RCtype RC type + | RC type + | 34393 | 34488|-17181| 2121
effects effects relativizer b JE
relativizer | relativizer
RC type +
. oh Slope for | Slope for
FE two-way | Two-way | Main —relativizer + | | p -io o | Rctvne + | 34365 | 34465 |-17166| 1 30.06*
interactions | interaction | effects | RCtype*relati b b
vizer relativizer | relativizer

Table S4.6. Results of the linear mixed-effect model for first-pass duration at RS in the
contrast Que versus Quien. The top of the table reports estimates/beta values, standard
error (SE), confidence intervals (95% CI), t-values and levels of significance for fixed

effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Table S4.7. Models’ comparisons using Likelihood-ratio test (LRT) for first-pass

regression at RS in the contrast Que versus Quien. The asterisk in the last column

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 251.72 [12.55]227.12 276.33 [20.05 <.001
RC type -16.93 | 8.28 |-33.18 -0.69 |-2.04 .09
Relativizer -18.00 | 8.50 |-34.66 -1.33 |-2.11 .09
RC type*relativizer | 23.05 |10.67| 2.13 4397 | 2.16 .09
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 45748 [21.38
Participant (slope for relativizer) 557.16 |23.60 0.72
Items (slope for RC type) 61.55 | 7.84
Items (slope for relativizer) 103.22 |10.16 -1.00

represents a p-value below the significance level of 0.05.

Model's selection

Sampling Units |

N total obs = 2688




N Subjects = 48; N items = 28

Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 1576.2 | 1652.8 [ -775.10
relativizer | relativizer
. . Slope for | Slope for
FEmain - Main — gy [RCWRet I pCiype + | RC type + | 1561.6 | 1650.0 |-765.79 | 2| 18.62%
effects effects relativizer bt bt
relativizer | relativizer
RC type +
. Jr Slope for | Slope for
FE two-way | Two-way | Main relativizer + | | p -\ oy | pctyne + [ 1551.5 | 1645.8 |-759.72 | 1]12.12%
interactions | interaction | effects | RCtype*relati b o
viger relativizer | relativizer

Table S4.8. Results of the linear mixed-effect model for first-pass regression at RS in

the contrast Que versus Quien. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), z-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI z p
Intercept -1.85 [0.18(-2.20 -1.49 -10.28] <.001
RC type -1.20 [0.28|-1.75 -0.65 -4.29 <.001
Relativizer -1.13 [0.26(-1.64 -0.62 -4.33 <.001
RC type*relativizer | 1.22 ]0.36] 0.51 1.93 3.38 <.001
Random Effects
Variance | S.D. [Correlation

Participant (slope for RC type) 1.116 e-01 | 0.33
Participant (slope for relativizer) 2.177e-01| 0.46 -0.36

Items (slope for RC type) 3.589¢e-01] 0.59
Items (slope for relativizer) 1.736 e-01| 0.41 -0.99




Table S4.9. Models’ comparisons using Likelihood-ratio test (LRT) for quasi first-pass
reading time at RS in the contrast Que versus Quien. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units . .
N Subjects = 48; N items = 28

Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 34922 35005 | -17447
relativizer | relativizer
. . Slope for | Slope for
FEmain —Main 1 [RCtype+ RC type + | RC type + | 34919 | 35014 |-17444| 2|7.15*
effects effects relativizer ox ox
relativizer | relativizer
J’_
FE two-way | Two-way [Main ilcatti}:/ri)zer + Slope for | Slope for
) way | Y .| |RC type + |RC type + | 34911 | 35011 |-17438| 1]10.52*
interactions | interaction | effects | RCtype*relati ox b
vizer relativizer | relativizer

Table S4.10. Results of the linear mixed-effect model for quasi first-pass reading time at
R5 in the contrast Que versus Quien. The top of the table reports estimates/beta values,
standard error (SE), confidence intervals (95% CI), #-values and levels of significance
for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t P
Intercept 280.07 [14.05]252.53 307.60 [19.93| <.001
RC type -36.37 [10.02|-56.02 -16.73 |-3.62| <.001
Relativizer -33.97 | 9.10 | -51.81 -16.12 |-3.73| <.001
RC type*relativizer | 38.46 |11.84| 15.24 61.68 | 3.24 .001

Random Effects




Variance | S.D. | Correlation
Participant (slope for RC type) 129.6 |11.39
Participant (slope for relativizer) 519.9 [22.80 0.56
Items (slope for RC type) 7722 [27.79
Items (slope for relativizer) 53.0 7.28 1.00

Table S4.11. Models’ comparisons using Likelihood-ratio test (LRT) for second-pass

duration at R5 in the contrast Que versus Quien. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units . .
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 36597 | 36680 | -18285
relativizer | relativizer
. . Slope for | Slope for
FEmain 1 Main ) [RCtype + RC type + | RC type + | 36619 | 36714 |-18204| 2]0
effects effects relativizer b b
relativizer | relativizer
+
FE two-way | Two-way [Main Fe(l:a‘:i};ri);er + Slope for | Slope for
. . . . .| |RC type + | RC type + | 36578 | 36679 |-18272| 1[42.90*
interactions | interaction | effects | RCtype*relati o b
viger relativizer | relativizer

Table S4.12. Results of the linear mixed-effect model for second-pass duration at RS in

the contrast Que versus Quien. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), ¢-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects

Est/Beta

SE

95% CI




Intercept 90.34 [11.83] 67.14 113.52 | 7.63 <.001
RC type -57.13 |12.87(-82.35 -3191 [-4.44] <.001
Relativizer -38.24 [12.01(-61.78 -14.69 |-3.18 .002
RC type*relativizer | 38.43 [16.53| 6.03 70.83 | 2.32 .02
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 709.9 [26.64
Participant (slope for relativizer) 106.9 (10.34 1.00
Items (slope for RC type) 396.5 |[19.91
Items (slope for relativizer) 152.0 [12.33 -0.85

Section F. Supplementary material of the eye-movement measures for the contrast Que

vs. Donde

Table S1. Mean reading times by condition at R3, R4 and R5 for the contrast Que vs.

Donde. Eye-movement measures are first-fixation rate (FFR), first fixation (FF), first-

pass duration (FPD), first-pass regression (FPR), quasi first-pass reading time (QFP),

second-pass duration (SPD). The numbers in parentheses indicate standard deviation.

. RESTRICTIVE NON-RESTRICTIVE
Region Measure
QUE DONDE QUE DONDE

FFR (%) 0.92 (0.28) 0.92 (0.27) 0.92 (0.27) 0.93 (0.26)

FF (ms) 248.72 (126.44) 239.18 (117.41) 247.52 (134.72) 259.01 (146.1)

R3 FPD (ms) | 287.05(176.41) 275.45 (167.98) 284.18 (194.26) 299.75 (203.85)
FPR (%) 0.14 (0.35) 0.15(0.36) 0.23 (0.42) 0.23 (0.42)

QFP (ms) 304.23 (195.54) 293.65 (186.1) 306.77 (214.99) 318.63 (227.2)

SPD (ms) 69.9 (229.81) 65.36(191.99) 103.12 (266.41) 98.56 (250.15)
FFR (%) 0.79 (0.41) 0.84 (0.36) 0.82 (0.38) 0.82 (0.38)

FF (ms) 195.83 (135.44) 190.21 (104.41) 206.78 (138.08) 183.45 (102.96)

R4 FPD (ms) | 205.57 (144.95) 203.56 (122.54) 213.47 (146.32) 198.2 (125.81)
FPR (%) 0.10 (0.30) 0.06 (0.24) 0.09 (0.29) 0.07 (0.26)

QFP (ms) | 210.14 (151.37) 212.83 (134.33) 218.8 (154.56) 206.77 (137.38)

SPD (ms) 36.99 (150.57) 30.47 (138.78) 41.53 (173.3) 42.41 (275.21)
FFR (%) 0.84 (0.36) 0.86 (0.34) 0.83 (0.38) 0.84 (0.37)

FF (ms) 189.78 (103) 188.5(93.45) 181.05 (98.94) 186.98 (100.18)

RS FPD (ms) 245.1 (186.69) 223.2 (141.15) 238.79 (179.11) 233.44 (166.31)
FPR (%) 0.11(0.31) 0.04 (0.20) 0.09 (0.29) 0.04 (0.20)

QFP (ms) | 262.04 (204.22) 228.2 (145.37) 251.2 (191.65) 237.97 (168.83)

SPD (ms) 59.32(239.32) 27.83 (193.06) 60.7 (241.03) 26.92 (154.92)




Section F.2. Models’ reports for eye-movement measures at R3

Table S2.1. Models’ comparisons using Likelihood-ratio test (LRT) for first fixation at
R3 in the contrast Que versus Donde. The asterisk in the last column represents a p-

value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units . .

N Subjects = 48; N items = 28

Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested

Model Subjects | Items AIC |BIC LL df | X2

Slope for | Slope for
RE only Null - - RC type + | RC type + | 33603 | 33685 |-16787
relativizer | relativizer

Slope for | Slope for

FE main Main RC type +
effects effects Null relativizer RC type +|RC type + 1 33604 | 33699 (-16786| 2]2.28
relativizer | relativizer
RC type +

Slope for | Slope for
RC type + | RC type + | 33601 | 33702 |-16784
relativizer | relativizer

FE two-way |Two-way |Main |relativizer +
interactions | interaction | effects | RCtype*relati
vizer

—_—

4.99*

Table S2.2. Results of the linear mixed-effect model for first fixation at R3 in the
contrast Que versus Donde. The top of the table reports estimates/beta values, standard
error (SE), confidence intervals (95% CI), t-values and levels of significance for fixed
effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta | SE 95% CI t p
Intercept 239.18 [8.07(223.35 255.01 |29.61 <.001
RC type 19.76 [7.65| 4.75 34.77 | 2.58 .02
Relativizer 9.54 16.79] -3.77  22.85 | 1.40 .16
RC type*relativizer [ -21.00 19.39]-39.41 -2.58 [-2.23 .05




Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 583.22 [24.15
Participant (slope for relativizer) 3448 | 5.87 -0.71
Items (slope for RC type) 66.37 | 8.14
Items (slope for relativizer) 38.60 | 6.21 -1.00

Table S2.3. Models’ comparisons using Likelihood-ratio test (LRT) for first-fixation

rate at R3 in the contrast Que versus Donde. The asterisk in the last column represents a

p-value below the significance level of 0.05.

Model's selection

) ) N total obs = 2688
Sampling Units . .
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df [ X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 1446.8 [ 1523.4 | -710.39
relativizer | relativizer
. . Slope for | Slope for
FEmain I Main =y |RCtype RC type + | RC type + [ 1450.7 | 1539.1 |-71033 | 2]0.11
effects effects relativizer b b
relativizer | relativizer
RC type +
. Jr Slope for | Slope for
FE two-way | Two-way [Main relativizer +
interactions | interaction | effects | RCtype*relati RC type ~|RC type - 1452.5 15469 1-710.27 o012
vizer relativizer | relativizer

Table S2.4. Results of the linear mixed-effect model for first-fixation rate at R3 in the

contrast Que versus Donde. The top of the table reports estimates/beta values, standard

error (SE), confidence intervals (95% CI), z-values and levels of significance for fixed

effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.




Fixed Effects

Est/Beta| SE 95% CI z p
Intercept 2.69 [0.19]1230 3.08 |13.62 <.001
RC type 0.11 ]0.25(-0.38 0.60 0.45 1.00
Relativizer 0.08 10.24(-039 0.56 0.34 1.00
RC type*relativizer | -0.10 |0.30(-0.69 047 |[-0.36 1.00

Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 0.01 0.10
Participant (slope for relativizer) 0.01 0.11 0.99
Items (slope for RC type) 0.19 0.44
Items (slope for relativizer) 0.15 0.39 -0.44

Table S2.5. Models’ comparisons using Likelihood-ratio test (LRT) for first-pass
duration at R3 in the contrast Que versus Donde. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units . .
N Subjects = 48; N items = 28

Nested LRT Test
Model Model |/ Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested

Model Subjects | Items AIC (BIC (LL df (X2

Slope for | Slope for
RE only Null - - RC type + | RC type + | 35356| 35438 |-17664
relativizer | relativizer

Slope for | Slope for

. . .
FE main | Main Null | RC type RC type + | RC type + | 35358 | 35452 |-17663| 2]1.56
effects effects relativizer b b
relativizer | relativizer
RC type +

Slope for | Slope for
RC type + | RC type + | 35356 | 35457 |-17661 113.62
relativizer | relativizer

FE two-way |Two-way [Main |relativizer +
interactions | interaction | effects | RCtype*relati
vizer




Table S2.6. Results of the linear mixed-effect model for first-pass duration at R3 in the
contrast Que versus Donde. The top of the table reports estimates/beta values, standard
error (SE), confidence intervals (95% CI), t-values and levels of significance for fixed
effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t P
Intercept 27545 (13.241249.48 301.41 |20.79] <.001
RC type 2426 |10.92| 2.85 45.67 | 2.22 .07
Relativizer 11.60 | 9.16 | -6.36  29.57 | 1.26 .20
RC type*relativizer | -27.22 |12.96|-52.63 -1.81 |-2.10 .07

Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 780.91 |[27.94
Participant (slope for relativizer) 1.43 1.19 0.45
Items (slope for RC type) 532.01 |23.06
Items (slope for relativizer) 0.40 0.63 -0.70

Table S2.7. Models’ comparisons using Likelihood-ratio test (LRT) for first-pass
regression at R3 in the contrast Que versus Donde. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units . )

N Subjects = 48; N items = 28

Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested

Model Subjects | Items AIC |BIC LL df | X2

Slope for | Slope for
RE only Null - - RC type + | RC type + | 2461.2 [ 2537.9 | -1217.6
relativizer | relativizer

Slope for | Slope for
RC type + | RC type + | 2447.4 [ 2535.9 [-1208.7 2117.78*
relativizer | relativizer

FE main Main Null RC type +
effects effects v relativizer




RC type +

Slope for

Slope for

FE two-way | Two-way | Main | relativizer + '\ 1o -\ o o'y [ Retype + [ 2449.4 (25437 [-12087 | 1]0.03
interactions | interaction | effects | RCtype*relati o b
. relativizer | relativizer
vizer
Table S2.8. Results of the linear mixed-effect model for first-pass regression at R3 in
the contrast Que versus Donde. The top of the table reports estimates/beta values,
standard error (SE), confidence intervals (95% CI), z-values and levels of significance
for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)
for the random effects, as well as their correlation.
Fixed Effects
Est/Beta | SE 95% CI z p
Intercept -1.96 10.171-2.31 -1.60 |-10.91 <.001
RC type 0.56 ]0.16( 0.24 0.88 3.47 .001
Relativizer -0.07 10.19]-0.45 0.30 -0.39 1.00
RC type*relativizer| 0.03 [0.21[-0.38  0.46 0.17 1.00
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 0.007 | 0.08
Participant (slope for relativizer) 0.0009 | 0.03 -0.85
Items (slope for RC type) 0.01 0.12
Items (slope for relativizer) 0.16 0.41 -0.83
Table S2.9. Models’ comparisons using Likelihood-ratio test (LRT) for quasi first-pass
reading time at R3 in the contrast Que versus Donde. The asterisk in the last column
represents a p-value below the significance level of 0.05.
Model's selection
) ) N total obs =2688
Sampling Units . )
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2




Slope for | Slope for
RE only Null - - RC type + | RC type + | 35844 | 35926 |-17908
relativizer | relativizer
. . Slope for | Slope for
J’_
FEmamn | Main Null  |RE e RC type + | RC type + | 35846 | 35940 |-17907 1.64
effects effects relativizer b JE
relativizer | relativizer
RC type +
. oh Slope for | Slope for
FE two-way | Two-way | Main —relativizer + | | p ooy | Retype + | 35845 | 35946 |-17906 2.72
interactions | interaction | effects | RCtype*relati b b
vizer relativizer | relativizer

Table S2.10. Results of the linear mixed-effect model for quasi first-pass reading time at

R3 in the contrast Que versus Donde. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), ¢-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 293.65 [15.43]263.41 323.89 [19.03| <.001
RC type 2494 (12.31] 0.80 49.07 | 2.02 A2
Relativizer 10.58 ]110.49( -9.98  31.15 | 1.00 31
RC type*relativizer | -22.53 |14.15]|-50.26  5.19 |-1.59 22
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 1024.23 132.00
Participant (slope for relativizer) 30.55 | 5.52 -0.99
Items (slope for RC type) 845.55 129.07
Items (slope for relativizer) 265.29 116.28 0.62

Table S2.11. Models’ comparisons using Likelihood-ratio test (LRT) for second-pass

duration at R3 in the contrast Que versus Donde. The asterisk in the last column

represents a p-value below the significance level of 0.05

Model's selection

Sampling Units

| N total obs = 2688




N Subjects = 48; N items = 28

Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 36835| 36918 |-18404
relativizer | relativizer
. . Slope for | Slope for
FEmain - Main =y [RCIRet I pCiype + | RC type + | 36820| 36924|-18399| 2993+
effects effects relativizer bt bt
relativizer | relativizer
RC type +
. Jr Slope for | Slope for
FE two-way | Two-way | Main —relativizer + | | p -\ o I pcione + | 36881 36982 |-18424| 1]0
interactions | interaction | effects | RCtype*relati b o
viger relativizer | relativizer

Table S2.12. Results of the linear mixed-effect model for second-pass duration at R3 in

the contrast Que versus Donde. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), ¢-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t P
Intercept 65.36 | 9.31 | 47.10  83.63 7.01 <.001
RC type 33.14 [16.00| 31.73  64.51 2.07 1
Relativizer 453 |13.87(-22.66 31.73 0.32 1.00
RC type*relativizer | -0.01 [17.44]-3420 34.18 |[-0.001 1.00
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 4571.2 | 67.61
Participant (slope for relativizer) 1208.9 | 34.77 1.00
Items (slope for RC type) 2447 | 15.64
Items (slope for relativizer) 4299 | 20.74 0.97

Section F.3. Models’ reports for eye-movement measures at R4




Table S3.1. Models’ comparisons using Likelihood-ratio test (LRT) for first fixation at
R4 in the contrast Que versus Donde. The asterisk in the last column represents a p-

value below the significance level of 0.05

Model's selection

N total obs = 2688

Sampling Units . .
N Subjects = 48; N items = 28

Nested LRT Test
Model Model |/ Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested

Model Subjects | Items AIC (BIC (LL df (X2

Slope for | Slope for

RE onl Null - - RC type + | RC type + | 32860 | 32942 |-16416
y typ typ

relativizer | relativizer

Slope for | Slope for

. . N
FE main | Main Null | RCpe RC type + | RC type + | 32861 | 32955 |-16415| 2]2.93
effects effects relativizer oL oL
relativizer | relativizer
RC type +

Slope for | Slope for
RC type + | RC type + | 32858 | 32958 |-16412
relativizer | relativizer

FE two-way |Two-way [Main |relativizer +
interactions | interaction | effects | RCtype*relati
vizer

[u—

4.70%

Table S3.2. Results of the linear mixed-effect model for first fixation at R4 in the
contrast Que versus Donde. The top of the table reports estimates/beta values, standard
error (SE), confidence intervals (95% CI), t-values and levels of significance for fixed
effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 190.21 |7.55[175.39 205.02 |25.16| <.001
RC type -6.82 |5.86(-1832 4.67 |[-1.16 49
Relativizer 562 |9.77(-13.52 2477 | 0.57 .56
RC type*relativizer| 17.61 |8.11] 1.70 33.52 | 2.17 .09
Random Effects




Variance | S.D. | Correlation
Participant (slope for RC type) 33.85 | 5.81
Participant (slope for relativizer) 1865.97 143.19 -0.98
Items (slope for RC type) 21.38 | 4.62
Items (slope for relativizer) 663.18 |25.75 0.35

Table S3.3. Models’ comparisons using Likelihood-ratio test (LRT) for first-fixation

rate at R4 in the contrast Que versus Donde. The asterisk in the last column represents a

p-value below the significance level of 0.05

Model's selection

) ) N total obs = 2688
Sampling Units . .
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 2334.0 [ 2410.7 | -1154.0
relativizer | relativizer
. . Slope for | Slope for
J’_
FE main | Main Null | REbpe RC type + | RC type + | 2337.9 [ 24263 | -1153.9 | 20.15
effects effects relativizer b b
relativizer | relativizer
RC type +
. oh Slope for | Slope for
FE two-way | Two-way | Main —jrelativizer + | | p oo | pctvne + [2338.3 | 24327 |-11532 | 1]1.53
interactions | interaction | effects | RCtype*relati b b
vizer relativizer | relativizer

Table S3.4. Results of the linear mixed-effect model for first-fixation rate at R4 in the

contrast Que versus Donde. The top of the table reports estimates/beta values, standard

error (SE), confidence intervals (95% CI), z-values and levels of significance for fixed

effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects

| EstBeta | SE |

95% CI

| » |




Intercept 1.95 10.19| 1.57 234 110.06| <.001
RC type -0.17 (0.17]-0.51 0.16 |-1.01 .62
Relativizer -0.19 [0.23[-0.65 0.25 |-0.84 .62
RC type*relativizer| 0.28 [0.221-0.15 0.72 1.28 .59
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 0.09 0.31
Participant (slope for relativizer) 0.39 0.63 -1.00
Items (slope for RC type) 0.007 | 0.08
Items (slope for relativizer) 0.44 0.66 -0.99

Table S3.5. Models’ comparisons using Likelihood-ratio test (LRT) for first-pass
duration at R4 in the contrast Que versus Donde. The asterisk in the last column

represents a p-value below the significance level of 0.05

Model's selection

N total obs = 2688

Sampling Units i .

N Subjects = 48; N items = 28

Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested

Model Subjects | Items AIC |BIC LL df | X2

Slope for | Slope for
RE only Null - - RC type + | RC type + | 33422 | 33505|-16697
relativizer | relativizer

Slope for | Slope for

. . N
FE main | Main Null | REbpe RC type + | RC type + | 33425 | 33520|-16697| 2|0.94
effects effects relativizer i oY
relativizer | relativizer
RC type +

Slope for | Slope for
RC type + | RC type + | 33425| 33525(-16696| 1]2.15
relativizer | relativizer

FE two-way |Two-way |Main |relativizer +
interactions | interaction | effects | RCtype*relati
vizer

Table S3.6. Results of the linear mixed-effect model for first-pass duration at R4 in the

contrast Que versus Donde. The top of the table reports estimates/beta values, standard



error (SE), confidence intervals (95% CI), t-values and levels of significance for fixed
effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 203.56 | 9.15 | 185.63 221.49 |22.24| <.001
RC type -545 [ 6.78 |-18.74 7.84 |-0.80 .84
Relativizer 2.01 |10.21]-18.01 22.03 | 0.19 .84
RC type*relativizer | 13.20 | 9.00 | -4.43  30.85 | 1.46 42
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 193.45 113.90
Participant (slope for relativizer) 1555.76 139.44 -0.11
Items (slope for RC type) 40.94 | 6.39
Items (slope for relativizer) 880.89 129.68 -0.08

Table S3.7. Models’ comparisons using Likelihood-ratio test (LRT) for first-pass
regression at R4 in the contrast Que versus Donde. The asterisk in the last column

represents a p-value below the significance level of 0.05

Model's selection

N total obs = 2688

Sampling Units . .

N Subjects = 48; N items = 28

Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested

Model Subjects | Items AIC |BIC LL df | X2

Slope for | Slope for
RE only Null - - RC type + | RC type + | 1461.7 [ 1538.3 | -717.84
relativizer | relativizer

Slope for | Slope for
RC type + | RC type + | 1460.1 [ 1548.5 | -715.03 215.61
relativizer | relativizer

FE main Main Null RC type +
effects effects u relativizer




RC type +

. Jr Slope for | Slope for
FE two-way | Two-way | Main relativizer + | | p -\ 'y | Rcitype + [ 1461.6 | 1555.9 | -714.80 | 1]0.46
interactions | interaction | effects | RCtype*relati o b
. relativizer | relativizer
vizer
Table S3.8. Results of the linear mixed-effect model for first-pass regression at R4 in
the contrast Que versus Donde. The top of the table reports estimates/beta values,
standard error (SE), confidence intervals (95% CI), z-values and levels of significance
for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)
for the random effects, as well as their correlation.
Fixed Effects
Est/Beta | SE 95% CI z p
Intercept -3.14 10.26(-3.65 -2.62 |-11.95| <.001
RC type 0.34 |(0.27]-0.19  0.87 1.25 41
Relativizer 0.54 [0.26] 0.03 1.05 2.09 A1
RC type*relativizer| -0.22 [0.31[-0.84  0.39 -0.70 A48
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 0.22 0.47
Participant (slope for relativizer) 0.02 0.15 0.18
Items (slope for RC type) 0.02 0.16
Items (slope for relativizer) 0.10 0.32 -0.46
Table S3.9. Models’ comparisons using Likelihood-ratio test (LRT) for quasi first-pass
reading time at R4 in the contrast Que versus Donde. The asterisk in the last column
represents a p-value below the significance level of 0.05.
Model's selection
) ) N total obs = 2688
Sampling Units . .
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2




Slope for | Slope for
RE only Null - - RC type + | RC type + | 33829 33912 ]-16901
relativizer | relativizer
. . Slope for | Slope for
J’_
FEmamn | Main Null  |RE e RC type + | RC type + | 33833 | 33927 |-16901 0.22
effects effects relativizer b JE
relativizer | relativizer
RC type +
. oh Slope for | Slope for
FE two-way | Two-way | Main —relativizer + | | p o | R type + | 33833 | 33933 [-16899 237
interactions | interaction | effects | RCtype*relati JE JE
vizger relativizer | relativizer

Table S3.10. Results of the linear mixed-effect model for quasi first-pass reading time at

R4 in the contrast Que versus Donde. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), #-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 212.83 | 9.42 |194.37 231.30 [22.59| <.001
RC type -6.16 | 7.34 |-20.55 822 |-0.84 .80
Relativizer -2.69 [10.39]-23.07 17.67 [-0.26 .80
RC type*relativizer | 14.67 | 9.73 | -4.39  33.75 | 1.50 .39
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 249.57 |15.80
Participant (slope for relativizer) 1524.50 139.04 -0.15
Items (slope for RC type) 37.45 | 6.12
Items (slope for relativizer) 810.50 |28.47 -0.39

Table S3.11. Models’ comparisons using Likelihood-ratio test (LRT) for second-pass

duration at R4 in the contrast Que versus Donde. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

Sampling Units

N total obs = 2688




N Subjects = 48; N items = 28

Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 35867 | 35949 |-17919
relativizer | relativizer
. . Slope for | Slope for
FEmain - Main — gy [RCIRet 1 pCiype + | RC type + | 35870 35964(-17919| 2{1.20
effects effects relativizer bt bt
relativizer | relativizer
RC type +
. Jr Slope for | Slope for
FE two-way | Two-way | Main —jrelativizer + | | p -\ o lpcione + | 35872 35972(-17919| 10
interactions | interaction | effects | RCtype*relati b o
viger relativizer | relativizer

Table S3.12. Results of the linear mixed-effect model for second-pass duration at R4 in

the contrast Que versus Donde. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), ¢-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 3047 | 828 | 1424  46.71 | 3.67 <.001
RC type 11.89 112.01|-11.65 3544 | 0.99 .96
Relativizer 6.51 |11.18]-15.39 2843 | 0.58 1.00
RC type*relativizer | -7.38 [14.57(-35.94 21.17 |-0.50 1.00
Random Effects
Variance | S.D. | Correlation

Participant (slope for RC type) 4449 121.09
Participant (slope for relativizer) 689.4 |[26.26 -1.00

Items (slope for RC type) 809.6 |28.45
Items (slope for relativizer) 128.1 |[11.32 -1.00

Section F.4. Models’ reports for eye-movement measures at RS




Table S4.1. Models’ comparisons using Likelihood-ratio test (LRT) for first fixation at

R5 in the contrast Que versus Donde. The asterisk in the last column represents a p-

value below the significance level of 0.05.

Model's selection

) ) N total obs = 2688
Sampling Units . .
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + |RC type + | 31789 | 31872 |-15881
relativizer | relativizer
. . Slope for | Slope for
+
FEmain | Main =, | RC type RC type + | RC type + | 31792| 31886 |-15880| 2|1.24
effects effects relativizer o o
relativizer | relativizer
RC type +
. Jr Slope for | Slope for
- - +
FE two-way | Two-way | Main | relativizer = | | p o0 | RCtype + | 31793 | 31893 |-15880| 1]1.17
interactions | interaction | effects | RCtype*relati b or
vizer relativizer | relativizer

Table S4.2. Results of the linear mixed-effect model for first fixation at R5 in the

contrast Que versus Donde. The top of the table reports estimates/beta values, standard

error (SE), confidence intervals (95% CI), t-values and levels of significance for fixed

effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 188.50 |7.31|174.17 202.83 |25.78| <.001
RC type -1.57 |5.83(-13.00 9.87 |[-0.26 1.00
Relativizer 1.28 [5.42] -9.35 1191 | 0.23 1.00
RC type*relativizer | -7.20 [6.64|-20.22  5.81 |[-1.08 .83

Random Effects




Variance | S.D. | Correlation
Participant (slope for RC type) 24487 |15.64
Participant (slope for relativizer) 225.35 [15.01 0.05
Items (slope for RC type) 193.33 [13.90
Items (slope for relativizer) 7597 | 8.71 1.00

Table S4.3. Models’ comparisons using Likelihood-ratio test (LRT) for first-fixation

rate at RS in the contrast Que versus Donde. The asterisk in the last column represents a

p-value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units . .
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 2075.9 [ 2152.6 | -1025.0
relativizer | relativizer
. . Slope for | Slope for
+
FEmain | Main 1, [RCtype RC type + | RC type + [ 2079.6 [ 2168.0 [-1024.8 | 2[034
effects effects relativizer b JE
relativizer | relativizer
FE two-way |Two-way [Main i(l:atti}:/?;eJ;Jr Slope for | Slope for
: way | Y -~ .| |[RCtype+|RC type + | 2081.6 |2175.9 |-1024.8 | 10.006
interactions | interaction | effects | RCtype*relati lativi JE
vizer relativizer | relativizer

Table S4.4. Results of the linear mixed-effect model for first-fixation rate at R5 in the

contrast Que versus Donde. The top of the table reports estimates/beta values, standard

error (SE), confidence intervals (95% CI), z-values and levels of significance for fixed

effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects

| Est/Beta | SE |

| » |

95% CI




Intercept 2.15 10.20( 1.75 2.55 1057 <.001
RC type -0.10 ]0.19(-0.49 0.28 -0.54 1.00
Relativizer -0.01 ]0.19(-0.39 0.36 -0.07 1.00
RC type*relativizer| 0.02 [0.23]-0.44 0.48 0.08 1.00

Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 1.784 e- 01| 0.42
Participant (slope for relativizer) 1.177e-01] 0.34 -0.24
Items (slope for RC type) 2.873e-02] 0.16
Items (slope for relativizer) 1.841 e- 05| 0.004 1.00

Table S4.5. Models’ comparisons using Likelihood-ratio test (LRT) for first-pass
duration at RS in the contrast Que versus Donde. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units i .

N Subjects = 48; N items = 28

Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested

Model Subjects | Items AIC |BIC LL df | X2

Slope for | Slope for
RE only Null - - RC type + | RC type + | 34539 | 34622 |-17256
relativizer | relativizer

Slope for | Slope for

. . N
FE mamn | Main Null  |RCope RC type + | RC type + | 34540 | 34635 |-17254] 2|2.61
effects effects relativizer i oY
relativizer | relativizer
RC type +

Slope for | Slope for
RC type + | RC type + | 34540 34640 |-17253 112.26
relativizer | relativizer

FE two-way |Two-way |Main |relativizer +
interactions | interaction | effects | RCtype*relati
vizer

Table S4.6. Results of the linear mixed-effect model for first-pass duration at RS in the

contrast Que versus Donde. The top of the table reports estimates/beta values, standard



error (SE), confidence intervals (95% CI), t-values and levels of significance for fixed

effects; the bottom of the table reports variance and standard deviation (S.D.) for the

random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 223.20 [13.57]196.59 249.81 |16.44| <.001
RC type 10.17 | 8.08 | -5.67  26.01 1.25 .26
Relativizer 21.90 |10.13] 2.04 41.75 | 2.16 .09
RC type*relativizer | -16.57 |11.02]-38.18  5.02 |-1.50 26
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 125.51 |11.20
Participant (slope for relativizer) 1327.29 |36.43 0.07
Items (slope for RC type) 55.03 | 7.41
Items (slope for relativizer) 398.75 119.96 -0.41

Table S4.7. Models’ comparisons using Likelihood-ratio test (LRT) for first-pass

regression at RS in the contrast Que versus Donde. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

N total obs = 2688

Sampling Units . .
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | | Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df [ X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 1335.1 [ 1411.7 | -654.53
relativizer | relativizer
. . Slope for | Slope for
FE main Main RC type + "
effects effects Null relativizer RCtype +|RCtype + | 1325.9 1 ) 4 5 |-647.94 2| 13.17
relativizer | relativizer




RC type +

. Jr Slope for | Slope for
FE two-way | Two-way | Main relativizer + | | p -\ o'y | Rctype + [ 1327.3 | 1421.7 | -647.66 0.56
interactions | interaction | effects | RCtype*relati o b
. relativizer | relativizer
vizer
Table S4.8. Results of the linear mixed-effect model for first-pass regression at RS in
the contrast Que versus Donde. The top of the table reports estimates/beta values,
standard error (SE), confidence intervals (95% CI), z-values and levels of significance
for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)
for the random effects, as well as their correlation.
Fixed Effects
Est/Beta | SE 95% CI z p
Intercept -3.40 10.271-3.95 -2.85 |-12.21 <.001
RC type 0.07 [0.35]-0.62 0.76 0.19 .89
Relativizer 1.02 10.30( 0.43 1.61 3.40 .001
RC type*relativizer | -0.29 ]0.39]-1.06  0.47 -0.75 .89
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 0.19 0.43
Participant (slope for relativizer) 0.10 0.31 -0.34
Items (slope for RC type) 0.16 0.40
Items (slope for relativizer) 0.19 0.44 0.82
Table S4.9. Models’ comparisons using Likelihood-ratio test (LRT) for quasi first-pass
reading time at RS in the contrast Que versus Donde. The asterisk in the last column
represents a p-value below the significance level of 0.05.
Model's selection
N total obs =2688
Sampling Units i .
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2




Slope for | Slope for
RE only Null - - RC type + | RC type + | 34798 | 34881 |-17385
relativizer | relativizer

Slope for | Slope for

. . N
FEmamn | Main Null  |RE e RC type + | RC type + | 34796 | 34891 |-17382 5.56
effects effects relativizer b JE
relativizer | relativizer
RC type +
. oh Slope for | Slope for
FE two-way | Two-way | Main relativizer + | ) p oo R type + | 34795 | 34895 |-17381 3.19

interactions | interaction | effects | RCtype*relati

. relativizer | relativizer
vizer

Table S4.10. Results of the linear mixed-effect model for quasi first-pass reading time at
R5 in the contrast Que versus Donde. The top of the table reports estimates/beta values,
standard error (SE), confidence intervals (95% CI), ¢-values and levels of significance
for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 228.20 [14.461199.85 256.55 |15.77] <.001
RC type 9.68 880 | -7.57 2693 | 1.10 27
Relativizer 33.84 (11.27] 11.74 5593 | 3.00 .008
RC type*relativizer [ -20.62 | 11.53]-43.23 1.98 |-1.78 14
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 300.1 [17.32
Participant (slope for relativizer) 1604.0 |40.05 -0.36
Items (slope for RC type) 1319 |11.48
Items (slope for relativizer) 760.3 [27.57 -0.33

Table S4.11. Models’ comparisons using Likelihood-ratio test (LRT) for second-pass
duration at R5 in the contrast Que versus Donde. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

Sampling Units N total obs = 2688




N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC |BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 36345| 36428 |-18159
relativizer | relativizer
. . Slope for | Slope for
FEmain 1 Main ) [RCtype + RC type + | RC type + | 36340 | 36435 |-18154| 2]9.06*
effects effects relativizer bt bt
relativizer | relativizer
RC type +
. Jr Slope for | Slope for
FE two-way | Two-way | Main —relativizer + | | p -\ oy | Rctyne + | 36342 | 36442 |-18154] 1]0.02
interactions | interaction | effects | RCtype*relati b o
viger relativizer | relativizer

Table S4.12. Results of the linear mixed-effect model for second-pass duration at RS in

the contrast Que versus Donde. The top of the table reports estimates/beta values,

standard error (SE), confidence intervals (95% CI), ¢-values and levels of significance

for fixed effects; the bottom of the table reports variance and standard deviation (S.D.)

for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 27.83 | 8.05 ] 12.05 43.61 | 345 .002
RC type -0.90 |[11.86]|-24.15 22.35 |-0.07 1.00
Relativizer 3149 [13.05] 590  57.08 | 241 .04
RC type*relativizer| 2.24 [15.90|-2891 33.41 | 0.14 1.00
Random Effects
Variance | S.D. | Correlation

Participant (slope for RC type) 573.59 123.95
Participant (slope for relativizer) 1587.91 139.84 0.82

Items (slope for RC type) 67.38 | 8.20
Items (slope for relativizer) 309.32 | 17.58 0.56




Section G. Supplementary material for the eye-movement measure total reading time of

R4, R5 and R6 together

Section G.1. Total reading time for the contrast Que vs. El cual

Table S1.1. Models’ comparisons using Likelihood-ratio test (LRT) for total reading

time of R4, R5 and R6 in the contrast Que versus El cual. The asterisk in the last

column represents a p-value below the significance level of 0.05.

Model's selection

N total obs = 8064

Sampling Units . .
N Subjects = 48; N items = 28
Nested LRT
este Model Test
Model Model |/ Fixed Effects | | Random Effects fit against
specification [ name simpler | added nested
Model Subjects [Items |AIC |BIC |LL |df [x2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 118439 | 118537 [-59206
relativizer | relativizer
. . Slope for | Slope for
J’_
FE main | Main =) [RCtype RC type + | RC type + | 118465 | 118577 [-59216| 2|0
effects effects relativizer or b
relativizer | relativizer
RC type +
. or Slope for | Slope for
FE two-way |Two-way |Main [relativizer +
interactions | interaction | effects | RCtype*relati RC type ~|RC type | 118467 | 118586 1-392161 110.19
vizer relativizer | relativizer

Table S1.2. Results of the linear mixed-effect model for total reading time of R4, RS

and R6 in the contrast Que versus El cual. The top of the table reports estimates/beta

values, standard error (SE), confidence intervals (95% CI), t-values and levels of

significance for fixed effects; the bottom of the table reports variance and standard

deviation (S.D.) for the random effects, as well as their correlation.

Fixed Effects

|EstBeta| SE |

95% CI

L] »




Intercept 556.45 129.84| 16.40 61495 |18.64( <.001
RC type -35.98 |15.58(-66.53 -5.43 -23 .06
Relativizer -31.17 [14.83]-60.23 -2.10 | -2.1 .07
RC type*relativizer | -7.27 [16.40]-39.42 24.87 |-0.44 .65
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 57.35 | 7.57
Participant (slope for relativizer) 227.89 |15.09 1.00
Items (slope for RC type) 3001.81 |54.78
Items (slope for relativizer) 2257.38 147.51 0.60

Section G.2. Total reading time for the contrast Que vs. Quien

Table S2.1. Models’ comparisons using Likelihood-ratio test (LRT) for total reading

time of R4, R5 and R6 in the contrast Que versus Quien. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

N total obs = 8064

Sampling Units ) )
N Subjects = 48; N items = 28
Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested
Model Subjects | Items AIC BIC LL df | X2
Slope for | Slope for
RE only Null - - RC type + | RC type + | 120188 | 120286 [-60080
relativizer | relativizer
. . Slope for | Slope for
J’_
FEmamn | Main Null  |REope RC type + | RC type + | 120176 | 120287 |-60072| 2] 16.92*
effects effects relativizer b or
relativizer | relativizer
RC type +
. or Slope for | Slope for
FE two-way |Two-way |Main [relativizer +
interactions | interaction | effects | RCtype*relati RC type ~|RC type | 120175 | 120294 1-600711 11246
vizer relativizer | relativizer




Table S2.2. Results of the linear mixed-effect model for total reading time of R4, RS
and R6 in the contrast Que versus Quien. The top of the table reports estimates/beta
values, standard error (SE), confidence intervals (95% Cl), #-values and levels of
significance for fixed effects; the bottom of the table reports variance and standard

deviation (S.D.) for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 542.50 |34.03(475.81  609.20 [1594] <.001
RC type -54.39 [12.95]-79.78  -28.99 |-4.19| <.001
Relativizer -8.00 |13.12(-33.72 17.71 -0.61 .54
RC type*relativizer | 28.65 |18.24] -7.10 64.41 1.57 23
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 3.427e+00 | 1.85
Participant (slope for relativizer) 2.102 e+02 ] 14.94 1.00
Items (slope for RC type) 3.906 e+01 | 6.24
Items (slope for relativizer) 3.743 e+01 | 6.11 -1.00

Section G.3. Total reading time for the contrast Que vs. Donde

Table S3.1. Models’ comparisons using Likelihood-ratio test (LRT) for total reading
time of R4, RS and R6 in the contrast Que versus Donde. The asterisk in the last column

represents a p-value below the significance level of 0.05.

Model's selection

N total obs = 8064

Sampling Units ) ]

N Subjects = 48; N items = 28

Nested LRT Test
Model Model / Fixed Effects | [ Random Effects Model fit against
specification | name simpler | added nested

Model Subjects | Items AIC BIC LL df | X2

Slope for | Slope for
RE only Null - - RC type + | RC type + | 118903 | 119000 [-59437
relativizer | relativizer




Slope for | Slope for

FE main Main RC type + %
effects effects Null relativizer RC type +|RC type + 1 118900 | 119012 [-59434| 2|6.24
relativizer | relativizer
RC type +

Slope for | Slope for
RC type + | RC type + | 118902 | 119020 [-59434| 1]0.67
relativizer | relativizer

FE two-way |Two-way |Main |relativizer +
interactions | interaction | effects | RCtype*relati
vizer

Table S3.2. Results of the linear mixed-effect model for total reading time of R4, RS
and R6 in the contrast Que versus Donde. The top of the table reports estimates/beta
values, standard error (SE), confidence intervals (95% CI), t-values and levels of
significance for fixed effects; the bottom of the table reports variance and standard

deviation (S.D.) for the random effects, as well as their correlation.

Fixed Effects
Est/Beta| SE 95% CI t p
Intercept 510.80 |32.50(447.10 574.50 [15.71] <.001
RC type -5.93 [12.41]-30.27 18.39 -0.47 .82
Relativizer 25.53 [12.08] 1.84 49.23 2.11 .10
RC type*relativizer | -13.88 |16.95|-47.11 19.35 -0.81 .82
Random Effects
Variance | S.D. | Correlation
Participant (slope for RC type) 2.951et+02]17.18
Participant (slope for relativizer) 1.186 e+02110.89 -1.00
Items (slope for RC type) 1.194 ¢+02 | 10.92

Items (slope for relativizer) 1.427 e+00 | 1.19 1.00




